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Paper II : 80-Geography

Sl. No.1
QBID:180001

Which were the leading countries in the world in terms of forest depletion between 1990 to 2015 as per the Food and
Agriculture Organisation?

. Brazil and Democratic Republic of Congo
. Russia and China

. Brazil and Indonesia

. Russia and Canada

1) 1

(2) 2

(3) 3

(4) 4

Wl 3R BN TS B IR 94 1990 ¥ 2015 TP FERU &b Yoy H FAfREd § 9 S1H-9 sErof <14 2

1. SITSild 3R B didhdiEd TR
2. =9 IR IH
3. SToitd 3R SaHRAT
4, Y AR BT
1) 1
(2) 2
(3) 3
4) 4

S

1[Option ID=31301] Question Description : geography_geography_set-1_english_q1
2[Option ID=31302]

3[Option ID=31303]

4[Option ID=31304]

Sl. No.2

QBID:180002

Which are the largest and second largest natural gas producing countries of the world according to United Nations Energy
Statistics 20227

. USA and Russia

. Russia and USA

. USA and Saudi Arabia

. Russia and Saudi Arabia
1) 1

(2) 2

e O B
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3) 3
(4) 4

Y 1Y Sl RS 2022 & IR 3 H UIpldd 719 & T8 95 3R 5 969 98 SACh qU I E 2

1. YT I ARG 3R Y
2. Y 3R Yo I SHRDT
3. Y I SHRST 2R G&Hdl 3Rd
4. Y 3R Y33l 3Rd
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=31305] Question Description : geography_geography_set-1_english_q2
2[Option ID=31306]
3[Option ID=31307]
4[Option ID=31308]

Sl. No.3
QBID:180003

Which of the following South American countries is part of OPEC bloc?

1. Argentina
2. Uruguay
3. Brazil
4. Venezuela
(1) 1
(2) 2
3) 3
(4) 4

FafRad | 9 S1H-91 GIe 3ARS! o¥1 »3u®: (31.U1.3.41) &1 335 2

3ol |l
. 3E

i)
E-EEE]
1) 1

(2) 2

3) 3
(4) 4

LT O B
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1[Option ID=31309] Question Description : geography_geography_set-1_english_q3
2[Option ID=31310]
3[Option ID=31311]
4[Option ID=31312]

Sl. No.4
QBID:180004

Which of the following is applied in Image Enhancement procedure of digital image interpretation?

. Radiometric Correction

. Geometric Correction

. Spatial feature manipulation
. Noise removal

(1) 1

) 2

(3) 3

(4) 4

fSfSred fda &1 oaren & o (afeiad o 9 69 fda Hat fafd &1 sy feun srar g »

1. faferufafas gur
2. SIHGT GUR
3. RS d&0Tdgdrd
4.W{Noise)ﬁam
1) 1
(2) 2
(3) 3

B R R
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1[Option ID=31313]
2[Option ID=31314]
3[Option ID=31315]
4[Option ID=31316]

Question Description : geography_geography_set-1_english_q4
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Sl. No.5
QBID:180005

. Fold

. Joint

. Fault
. Crack
1) 1

(2) 2

(3) 3

(4) 4

B O

CSE}
Uty
PRl
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B

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=31317]
2[Option ID=31318]

3[Option ID=31319]
4[Option ID=31320]

When rocks fracture in earth crust and again the same rock masses move in different directions it is known as

o Q2 o Ued § et AT BT € 2R O a8 At s et femmeit A nfaxfia gia 8, 91 SY derSiran @

Question Description : geography_geography_set-1_english_q5

Sl. No.6
QBID:180006

. Rift Valley
. Blind Valley

B R B

1) 1
(2) 2
(3) 3
(4) 4

Rue urdt
.3y g1t

B s

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=31321]
2[Option ID=31322]

3[Option ID=31323]
4[Option ID=31324]

. U-3THR 91t
. V-3TBR °TIeT

Which one of the following landforms is formed due to tectonic forces?

. U-shape Valley
. V-shape Valley

fafafad weedl 8§ ¥ oH-a1 fagde 9t & sRu fAfifd e g -

Question Description : geography_geography_set-1_english_q6

Sl. No.7
QBID:180007

. Rock fall
. Mud flow

B

. Solifluction

Which of the following is not a fast type of mass movement?

. Bed rock slump
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(1) 1
) 2
(3) 3
(4) 4

FafaRad § @9 9gq I ®I did USR5 g 2

1. A
2. Udh Ydig
3, 9 R 3dqdq

4, IE—[WUT (Solifluction)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31325] Question Description : geography_geography_set-1_english_q7
2[Option ID=31326]

3[Option ID=31327]
4[Option ID=31328]

Sl. No.8
QBID:180008

Which of the following factor is not correct about development of tropical cyclone?

. Tropical cyclones are formed on ocean in low latitudes within 5° of the equator.
. The temperature of ocean must be greater than 26.5°C.

. Weak wind with little change in speed or direction with height needed.

. The atmosphere over the ocean must have high moisture content.

B R

(1) 1
(2) 2
(3) 3
(4) 4

IUGHICH ddhard & 944 & Yy H FHfaRad I $1F 9 RS Iel gl ¢ 2

1. SWhics dshdrd 9 3i&iel & Yredl & 5° & iR g W &d |
2. Y% &1 daqH =4 gl 26.5° Y. T 3{fE[d g1 918U |
3. 71fdl 31d SdTs & 1Y G H Scded URadd & 91y & a1y 31939 ¢ |
4. 998 & SR dagHSd H 3= Mg dl 32 g1 95U |

) 1

() 2

3) 3

(4) 4

1[Option ID=31329] Question Description : geography_geography_set-1_english_q8
2[Option ID=31330]
3[Option ID=31331]
4[Option ID=31332]

Sl. No.9
QBID:180009

Which of the following is not correct about Koppen's climate classification?

1. Af— Tropical Humid Climate
2. BS — Dry Desert Climate
3. Cfb — Marine West Coast Climate
4. ET — Tundra Climate
(1) 1
(2) 2
3) 3
4) 4

DIV & Toarg TR0 & Tae H Faieigd § 4 /g I8 8 2

1. Af - SWDICH 3T Teidryg
2. BS - Y& TER(dl SIddryg

3. Cfb - YL Uigt de Sddrg
4.ET- g9l vddg
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(1) 1

(2) 2

(3) 3

4) 4

1[Option ID=31333] Question Description : geography_geography_set-1_english_q9
2[Option ID=31334]

3[Option ID=31335]
4[Option ID=31336]

Sl. No.10
QBID:180010

In the three-cell circulation model, the energy that drives Hadley cell is supplied by which of the following?

. The energy derived from coriolis force.

. The energy from the westerlies.

. The energy transferred from sub-tropical high pressure cells to doldrums.
. The latent heat released during the formation of cumulonimbus clouds.

B R B

11
(2) 2
3) 3
(4) 4

dH-4 arel URdTe Hisd |, g3dl 3d &l 9d drell Sl &1 Hafaiad J ¥ {69 gRr1 $gfd @ §idi g 2

DI & G FiTd Sl

ATl 9§ S|

. JUI Dicedi 3= ¢rd arcd Yol  Sidsd dd gxidiRd 3ol |
. DU 9y} Tl & Ao & SR IHfSId e I

1) 1
(2) 2
(3) 3
4) 4

B s

1[Option ID=31337] Question Description : geography_geography_set-1_english_q10
2[Option ID=31338]
3[Option ID=31339]
4[Option ID=31340]

Sl. No.11
QBID:180011

"Beaufort Scale" is a measure of ?

1. Wind Velocity
2. Wind Direction
3. Humidity
4, Snowfall

1) 1

(2) 2

(3) 3

4) 4

SHIC Thal [dydhl A1U® § 2

1. 9gq g
2. 994 fe=m
3. 3{1gdl
4. fgHurd

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31341] Question Description : geography_geography_set-1_english_q11
2[Option ID=31342]

3[Option ID=31343]
4[Option ID=31344]

Sl. No.12
QBID:180012
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Which ocean has the largest continental slope area?

1. Arctic Ocean
2. Pacific Ocean
3. Indian Ocean
4. Atlantic Ocean
(1) 1

(2) 2

(3) 3

(4) 4

fofafad o 9 foU TeRR & waifee fagd Aegia od 83 ¢ 2

j

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31345] Question Description : geography_geography_set-1_english_q12
2[Option ID=31346]

3[Option ID=31347]
4[Option ID=31348]

pPrepp

Your Personal Exams Guide

Sl. No.13
QBID:180013

Which of the following is most prone to Tsunami strikes?

1. East Coast of Africa
2. Atlantic Shoreline
3. European Shoreline
4. Circum-Pacific Shoreline
(1) 1
(2) 2
(3) 3
(4) 4

frafarad # ¥ B YA UgRT 3 Jdifte I ¢ 2

. 3BT BT gdf e
_ 3fedifcd de @l
. QRIUT e 3@l

. UR-UId de a1
(1) 1

(2) 2

(3) 3

4) 4

B I

1[Option ID=31349] Question Description : geography_geography_set-1_english_q13
2[Option ID=31350]
3[Option ID=31351]
4[Option ID=31352]

Sl. No.14
QBID:180014

Irminger current flows in which of the following ocean waters?

. South Atlantic
. North Atlantic
. North Pacific

. South Pacific
1) 1

(2) 2

3) 3

(4) 4

T O B
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RIHTR Sd-4RT FERad § ¥ b AR & ofd H ydligd gidl © 2

1. Gi&Of sedifed
2. JuRl 3fedifed
3. IOl UIid
4. Gf&of g=iid

1) 1
(2) 2

(3) 3

(4) 4

1[Option ID=31353] Question Description : geography_geography_set-1_english_q14
2[Option ID=31354]

3[Option ID=31355]
4[Option ID=31356]

Sl. No.15
QBID:180015

Which one of the following mineral nutrients is not the macro-nutrient required by plants?

1. Manganese
2. Magnesium
3. Phosphorus
4. Sulphur

(1) 1

(2) 2

(3) 3

(4) 4

FEIRIT H 9 DIH-91 U @S YN o UIayl & iU Sade Hy-UiNd oW el 6 7

1. HE
2. AURRH
3. BIEHRY
4. GaB

1) 1

(2) 2

3) 3

4) 4

1[Option ID=31357] Question Description : geography_geography_set-1_english_q15
2[Option ID=31358]
3[Option ID=31359]
4[Option ID=31360]

Sl. No.16
QBID:180016

Which one of the following option correctly describes the regressive population?

1. Anunchanging fertility and mortality rates over a long period of time.
2. An increasing birth rate and high mortality producing a wide base pyramid.
3. A declining birth rate and low mortality rate producing a narrow base pyramid.
4. A high birth rate and high mortality producing a wide base pyramid.
1) 1
(2) 2
3) 3
(4) 4

fAgfciRad H S1H-91 fadbed SeNTH! SHYEAl & d H ol [darul sffiadd Hdl g 2

1. @i sruRafdd e iR gager |

2. AT HYRYH RIS [Fd Bl 96l TeR 3R 3= Je |
3. G YR & (RIS [T Sl gedl TR SR F8 o |

4. ATH YR & (RIS A B I TR 3R I G |

11
(2) 2
(3) 3
(4) 4
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1[Option ID=31361] Question Description : geography_geography_set-1_english_q16
2[Option ID=31362]
3[Option ID=31363]
4[Option ID=31364]

Sl. No.17
QBID:180017

What does replacement rate represents?

1. It represents total births per 1000 female population in reproductive age group.
2. It represents male births per 1000 female population in reproductive age group.
3. It represents female births per 1000 female population in reproductive age group.
4. Number of expected births per 1000 population.

(1) 1

(2) 2

3) 3

(4) 4

U0 & 1 Hdd Bl g 2

1. g Yol-IE® 31 THE @1 Ul 1000 ATGHT SRS TR Sl oI+ W1 I Hed Hcl ¢ |
2. UG Yo 3G TG 1 Ui 1000 TG S-ReAT TR GoY ST UHT DI Hakd Bl g |
3. U8 USHHIES 314 Y DI Ul 1000 AigH SHEEHT U Hfgdl S+H AT DI dd S g |
4. Wi 1000 STEREAT UR YR ST+H| D1 T |

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=31365] Question Description : geography_geography_set-1_english_q17
2[Option ID=31366]
3[Option ID=31367]
4[Option ID=31368]

Sl. No.18
QBID:180018

Which one of the following sources of population data involves compulsory and legal registration of vital events such as
births. deaths, marriage etc.?

. Population Census

. Sample Surveys

. Registers of Population

. Epidemiological Reports

N

1) 1
(2) 2
(3) 3
4) 4

FRICRad T SH-91 S sfidbs] Uid W 9131 S - 5, T, fadTg #fife &1 e SR fafdd siiau
GHIET AT S 2

1. SIS SI0H]
2. UfcaRl gdeu
3. ST B Gull
4. SHUiGd AT fa3iH &1 Uldde
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31369] Question Description : geography_geography_set-1_english_q18
2[Option ID=31370]
3[Option ID=31371]
4[Option ID=31372]

Sl. No.19
QBID:180019
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"Po river basin" is well known industrial region of which of the following countries?

. China

. Turkey

. Ttaly

. Uruguay

s

11
(2) 2
3) 3
(4) 4

frafeRad # 9 fou <o H fareara sienfiis yewr i 7l i sraf@ra g 2

EIG|
gal
ol
I&I

B I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31373] Question Description : geography_geography_set-1_english_q19
2[Option ID=31374]

3[Option ID=31375]
4[Option ID=31376]

Sl. No.20
QBID:180020
"Transportation and the Societal Framework" work is associated with which of the following scholar ?

. Edward Ullman
.M. E. Hurst
.G.K. Zipf

. John Friedman
1) 1

2) 2

3) 3

(4) 4

fafaRad o 9 {69 fagH 9 e-uuieeH US ¢ Ji3d hiaad S/ 98l g 2

. USds 3dH
A §E
St W
.S WIgSHA
1) 1

(2) 2

3) 3

4) 4

R O R

B s

1[Option ID=31377] Question Description : geography_geography_set-1_english_q20
2[Option ID=31378]
3[Option ID=31379]
4[Option ID=31380]

Sl. No.21
QBID:180021

Identify the main products of truck farming and factory farming, respectively.

. Vegetables and Timber woods
. Corn and Meat

. Vegetables and Poultry

. Flowers and Fruits

1) 1

2) 2

3) 3

(4) 4

B O R
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1. gieorgT SR feraR dds]
2. HapbT 3R HiY

3. Gieodl 3R Hade Idig
4. pd 3R Bd

(1) 1

2) 2

(3) 3

4) 4

1[Option ID=31381] Question Description : geography_geography_set-1_english_q21
2[Option ID=31382]
3[Option ID=31383]
4[Option ID=31384]

pPrepp

Your Personal Exams Guide

Sl. No.22
QBID:180022

Which country specializes in growing tulip flowers?

. Netherlands

. Denmark

. New Zealand
. Lebanon

1) 1

(2) 2

(3) 3

(4) 4

FafRad § SH-91 621 Sfay g8 Iared | [qRIeiaERu adi ¢ |

| et
2. S
3. ollds
4, de4H

1) 1

(2) 2

3) 3

4) 4

B O R

1[Option ID=31385] Question Description : geography_geography_set-1_english_q22
2[Option ID=31386]
3[Option ID=31387]
4[Option ID=31388]

Sl. No.23
QBID:180023

Consider the following pairs of localized diseases and area :

A. Acute Eucephilitis Syndrome — Western U.P.
B. Lathyrus — Chhota Nagpur Plateau

C. Fluorosis — Ganga Plain

D. Goitre — Himalayan region.

Choose the correct set of pairs :

. A and B only
.Band C only
.Band D only
.Aand C only
(1) 1
(2) 2
3) 3
4) 4

B O R
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fafeRad wife saial sk &5 & g8 W faar o3 -

A, AU ARKTSS 2NY A&7 - TIH] 3R UeSl
B. Iy - BIc] AHUR USIR

C. TRIRITGY - T & HaH

1[Option ID=31389] Question Description : geography_geography_set-1_english_q23
2[Option ID=31390]
3[Option ID=31391]

4[Option ID=31392]

pPrepp

Your Personal Exams Guide

Sl. No.24
QBID:180024

Which one of the following parameter is not proposed by Kristof to distinguish frontiers and boundaries ?

. Frontiers are outer-oriented whereas boundaries are inner-oriented.
. Frontiers are areal and boundaries are linear in character.
. The frontier is a manifestation of centrifugal forces whereas boundary is that of centripetal one.

B R

1) 1
(2) 2
(3) 3
(4) 4

fgfaRad U o 1 JiHid &7 R 491 & did f[aHes UfdaH s gRI udifad 981 § 2

1. GiHid &l Jfigd gid g S uRHIam $eR-3@ gidi ¢ |

2. AT &7 e g SR UREHTE W UHid &1 gl § |

3. Iid & HaaaR 96 &1 UhAIHRUl g, Sdidh TRATH HEiei § |

4. HHHId &7 T1 & o9 U D SRS g, TR 39S fa0id Uh JUHHRI SRS 3 |

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31393] Question Description : geography_geography_set-1_english_q24
2[Option ID=31394]
3[Option ID=31395]

4[Option ID=31396]

. A frontier is an integrating factor between states on either side, a boundary on the contrary, is a separating factor.

Sl. No.25
QBID:180025

20117

1. Date of Birth
2. Educational Status
3. Sex
4. Aadhaar Number
(1) 1
(2) 2
(3) 3
(4) 4

Which one of the following information is not collected as part of the National Population Register (NPR), Census of India
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fFrafad & 9 &F O THERT T S R, YRd & SH0EL, 2011 H Fe SfEd 8 2

1. o faid

2. e TR

3. fefm

4. 3TYR T=AT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31397] Question Description : geography_geography_set-1_english_q25
2[Option ID=31398]

3[Option ID=31399]
4[Option ID=31400]

Sl. No.26
QBID:180026

Which one of the following holy places of Buddhism is located at the eastern most longitude?

. Sarnath

. Bodh Gaya
. Sravasti

. Rajagrha

T O B

(1) 1
) 2
3) 3
(4) 4

Fafiad o U H 91 ulds die 9t &1 =/d 969 Ud a2iaR W [RYd g 2

1. gAY
2. §iY T
3. Y&l

4. w]e

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31401] Question Description : geography_geography_set-1_english_q26
2[Option ID=31402]

3[Option ID=31403]
4[Option ID=31404]

Sl. No.27
QBID:180027

Which of the following district matches correctly with its major tribal group?

. Sabarkantha — Santhals
. Tawang — Adi

. Bidar — Bhil

. Birbhum — Gonds

1) 1

) 2

(3) 3

(4) 4

fafaRad & 9 & 91 1576 3R 87 SHeld 998 &1 4 el g 2

1. 9IsR$BIST - YT
2. 4 - 3l
3. 9l - Yid
4. dRYA -Tf8
(1) 1
(2) 2
3) 3
4) 4

B B
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1[Option ID=31405] Question Description : geography_geography_set-1_english_q27
2[Option ID=31406]
3[Option ID=31407]
4[Option ID=31408]

Sl. No.28
QBID:180028

Which of the following contains principles of trigonometry?

. Rihlah

. Geographia Generalis
. Suryasiddhanta

. Anthropogeographie
(1) 1

(2) 2

3) 3

(4) 4

frafaiRad # 9 foad Betufad & Rigidfliumug

B R B

e

SRl S
RSUAREAR|

. RIS RG]

B R

(1) 1

2) 2

(3) 3

4) 4

1[Option ID=31409] Question Description : geography_geography_set-1_english_q28
2[Option ID=31410]

3[Option ID=31411]
4[Option ID=31412]

Sl. No.29
QBID:180029
Which of the following is remembered for prediction of an eclipse of the Sun and cosmology based on water?

. Thales

. Homer

. Anaximander
. Hecataeus

(1) 1

(2) 2

(3) 3

4) 4

frofarad o 9 fod g0 & JaidaM 9T o SeTRd selisan™ & fore e fear smarg 2

4o

B
HAFIHSR
fedbfeay

B B

B

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31413] Question Description : geography_geography_set-1_english_q29
2[Option ID=31414]

3[Option ID=31415]
4[Option ID=31416]

Sl. No.30
QBID:180030

Which of the following is accused of "leaving ge out of geography"?

1. Guyot
2. Ritter
3. Hartshorne
4. Humboldt
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) 2
3) 3
(4) 4

SUST & "SHUTG] 2sa H Y 1S (Ge) Bl SIS &1 3RIY FAafafad 3 9 &g )R @ Adrg 2
L. ]!G-IE

2. Rer

3 !; vi‘

4. Bﬁs ol

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=31417] Question Description : geography_geography_set-1_english_q30
2[Option ID=31418]

3[Option ID=31419]
4[Option ID=31420]

Sl. No.31
QBID:180031
o

The principle of "terrestrial whole" was advocated by which of the following experts?

1. Hartshorne
2. Blache
3. Ritter
4. Humboldt
1) 1
(2) 2
(3) 3
(4) 4

RUE THY DI [gid FgicRad § 9 {6y faxvgy 4 faar ur 2

1L
-
3. AR, UL Tay

4. 3R, Ud. [4g
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=31421] Question Description : geography_geography_set-1_english_q31
2[Option ID=31422]
3[Option ID=31423]
4[Option ID=31424]

Sl. No.32
QBID:180032

Which of the following statements is NOT true about Pearson's product-moment correlation coefficient 'r'?

.'r' is simply a measure of the degree to which the two variables vary together.

.'r' is a non-parametric measure of the relationship between the two variables measured on nominal and ordinal scale.
. The value of 't' lies between —1.0 and +1.0.

.'r' value is liable to spurious high if outliers are present in the data.

B R

(1) 1
) 2
(3) 3
(4) 4

AT SH-91 HYH [0T8H Id1G-TR0 Jguay 0id v & IR ¥ gl el g 2

. GMHFIAYT 39 HET &l 119 g o/ alHi =R veh 9y uRaldd gid ¢ |

- TS 3R Hifd 7Y R J10d & @RI & i Ydy o1 Surdiad A9 g |
W HIAM-1.0 3R + 1.0H Sd Al g |

.fe 3fiwe! § dfealdl § dl v &1 AF 3= YA gl Idhdi ¢ |

1) 1

2) 2

T R oS I
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3) 3
(4) 4

1[Option ID=31425] Question Description : geography_geography_set-1_english_q32
2[Option ID=31426]
3[Option ID=31427]
4[Option ID=31428]

Sl. No.33
QBID:180033

Which type of scattering is responsible for red sunsets?

. Rayleigh

. Mie

. Non-selective
. Diffuse

(1) 1

(2) 2

3) 3

(4) 4

T 0] BT HH-HT UHR A0 Gaied & fofy STRar g 2

1.3
2. H
3. ETATHS
4. fa@Ro
1) 1
(2) 2
3) 3
4) 4

T R B

1[Option ID=31429] Question Description : geography_geography_set-1_english_q33

2[Option ID=31430]

3[Option ID=31431]

4[Option ID=31432]

SI. No.34

QBID:180034

The measured distance between two road intersections shown on a photograph is 10 mm on the photograph and 50 mm on

the map. If the RF of the map is 1 : 50,000, which one the following is the scale of the photograph.

1. 1:50000
2.1:250000
3. 1: 100000
4.1:25000

(1) 1

(2) 2

3) 3

4) 4

&l US® UfdwseHl & did I g3l Blemh | 10 fAH. 3R AFfE W so .. nelRfa &1 & ¢ | af ARt @1
3R U, (UGIRId f94) 1:50,000 8, I BICITE &1 HIUS HIH I 6 ?

1. 1:50000
2. 1:250000
3. 1:100000
4. 1:25000

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31433] Question Description : geography_geography_set-1_english_q34
2[Option ID=31434]
3[Option ID=31435]
4[Option ID=31436]

Sl. No.35
QBID:180035
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Which of the following curve represents the proportion of Earth's land and sea floor areas?

1. Altimetric curve

2. Lorenze curve

3. Hyetograph curve
4. Hypsograhic curve
1) 1

(2) 2

3) 3

(4) 4

FafaRad & &1H-91 9 gedt & YUNT/ Y3 3R GYg ddl &3 & 3-UTd bl U Rid Hdl &
1. QIdTHITS 9
2. AR~ deh
3. ISCHITE adb
4. 3G (Rwmnfths) o
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31437] Question Description : geography_geography_set-1_english_q35
2[Option ID=31438]

3[Option ID=31439]
4[Option ID=31440]

Sl. No.36
QBID:180036

Which one of the following rivers and associated projects is correctly matched in terms of location of projects in correct
sequence from upper course to lower course of river?

. Narmada River : Onkareshwar Dam — Narmada Sagar Dam — Sardar Sarovar Dam.
. Chambal River : Gandhi Sagar — Jawahar Sagar — Rana Pratap Sagar.

. Satluj River : Nathpa Jhakri — Harike Barrage — Bhakhra Dam.

. Damodar River : Tenughat — Panchet — Durgapur Barrage.

B R B

1) 1
(2) 2
(3) 3
(4) 4

fFafaRad & 9 &l W ue ¢ 3R 39 g1 URAISHIT el & HURT HIT el 4T @f 3R 961 o # uRgisrei
& R & HFUR gHfd g 2

1. FHETACT : SfBRAYR dfe - THEI YR 914 - TRER AR 1Y |
2. I G ; et YR - Sargr MR - UMY R
3. ol dal - AUl DT - B SR - HRAST diY
4. IR T : o 91C - Udd - GTYR aR1el
(1) 1
(2) 2
(3) 3
4) 4

1[Option ID=31441] Question Description : geography_geography_set-1_english_q36
2[Option ID=31442]

3[Option ID=31443]

4[Option ID=31444]

Sl. No.37

QBID:180037

According to Koppen's climatic classification of India large part of Arunachal Pradesh is represented by which of the
following set of alphabets?
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3) 3
(4) 4

DI & YR & Tddrg THIV & TR 3B UG BT 3feidar Ui FHufaRad o 9 f6y quier 9yg grI
eI faar ST g 2

l.Cwg
ET
Aw
Dfc

[N ]

+

(1) 1

2) 2

3) 3

4) 4

1[Option ID=31445] Question Description : geography_geography_set-1_english_q37
2[Option ID=31446]

3[Option ID=31447]
4[Option ID=31448]

Sl. No.38
QBID:180038

Which of the following rivers have the largest drainage basin area?

. Kaveri

. Chambal
. Narmada
. Sutlej
1) 1

(2) 2

3) 3

(4) 4

fafafad 8 9 g T &1 3uare IR & ge9 931 2

1. Bl
2. T
3. qHer
4. gdeel
1) 1
2) 2

3) 3
(4) 4

B R R

1[Option ID=31449] Question Description : geography_geography_set-1_english_q38
2[Option ID=31450]
3[Option ID=31451]
4[Option ID=31452]

Sl. No.39
QBID:180039

Which of the following steel plants in India is located near the coal mines?

. Rourkela

. Bhadravati
. Bokaro

. Bhilai

(1) 1

(2) 2

(3) 3

(4) 4

YR ¥ (EfeiRad & U &IH-91 38Id 997 Siad @aHl & Hdbe [Rd g 2

T O B
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3) 3
(4) 4

1[Option ID=31453] Question Description : geography_geography_set-1_english_q39
2[Option ID=31454]
3[Option ID=31455]
4[Option ID=31456]

Sl. No.40
QBID:180040

In which one of the following collision zone, plates permanently unite with no further tectonic activity?

. Spreading zone

. Subduction zone

. Continental suture
. Transform zone
(1) 1

(2) 2

3) 3

(4) 4

éﬁgﬁ@aﬁﬁﬁmmﬂﬁ%ﬂ}%ﬁﬁ%wﬁwﬁ@saﬁ%awm&ﬁﬁaﬁﬁﬁaﬁWWﬁm
g |

. IR HSd
_gqu Hed

. Oelaidlyg U2l
. BUR HUSH
(1) 1

(2) 2

(3) 3

4) 4

R B

—

o]

d=

1[Option ID=31457] Question Description : geography_geography_set-1_english_q40
2[Option ID=31458]
3[Option ID=31459]
4[Option ID=31460]

Sl. No.41
QBID:180041

Which of the following statements are true about seismic waves?

A. The velocity of P-wave depends upon density and distortion to compression of rock traversed.
B. P-wave travels faster than S-wave.

C. L-wave follows zig-zag path and arrive later than P and S-waves.

D. The velocity of S-wave depends upon density and resistance of rock transversed.

Choose the correct answer from the options given below :

. A and B Only
.Cand D Oaly
.Aand C Oaly
.Band C Only
1 1
(2) 2
3) 3
4) 4

B e R
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frafafad # P-4 oy yobiig Rl & TR A IS T 2

A. Tl (P) - TR BT T TR U & Yo Dl fAPid IUT Ted R AR BATE |
B. UL T - a1 ! =1 J g i I Mad= gidi ¢ |

C. Td (L) T Ce-He TY DT S0 DRl § a1 Ul 3R TH - T30 & &1€ Ugadi ¢ |
D. T - a1 1 471 3FURY 2l o gcd 3R UfRIUHdl IR R el g |

T feu U fasedl § 9§ Uel 3tk &1 99+ DIfor

1. %ad A 3R B
2.%dd C 3R D
3. Had AR C
4. $ad B AR C

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31461] Question Description : geography_geography_set-1_english_q41
2[Option ID=31462]
3[Option ID=31463]
4[Option ID=31464]

pPrepp

Your Personal Exams Guide

Sl. No.42
QBID:180042

Which of the following statement is / are correct about plate tectonics?

A. Plate tectonics are major forces behind formation of topographic features of earth surface.
B. Mid-oceanic ridges are destructive plate boundary with deep-focus earthquake.

C. Radiogenic heat is the force behind plate tectonic.

D. Rocks break and move along plane of breakage is known as fold.

Choose the correct answer from the options given below :

. A Ounly

. Aand C Only
.Band D Only
.Band C Only
1 1

(2) 2

3) 3

(4) 4

fFrafaRad # o19-91 ¥ $Y we faadiel & aR A g 8/3 2

A. e [qadHd! o dd & RIdbias a&ml & Hui &1 RE ad ¢ |

B. TH.IEMIRIY S TeL-3Hdhi=d Ybul aTdl [dwuyd ©ic YHAREl g |
. ISl Gibaderg (iSumi-e) 31 wie [ddd-a! & Ui Higd 9d g |
D. Ud [0S d g WISd ad & Iy 71fd Bl ¢ o deld dHgl Sidl g |

i f&U 7Y fqdhet! H T Ug! SR &1 98- Bl -

1. hdd A

2. FATA SR C
3. A B 3R D
4. HAAB AR C

(1) 1
) 2
(3) 3
(4) 4

B O R

1[Option ID=31465] Question Description : geography_geography_set-1_english_q42
2[Option ID=31466]
3[Option ID=31467]
4[Option ID=31468]

Sl. No.43
QBID:180043
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Identify the correct statements from the following :

A. The northern western Himalayan states are more vulnerable to earthquakes and landslides.
B. There is a high possibility of occurance of volcanoes in Himalayan mountains.

C. The prediction of earthquake is possible now a days.

D. Anthropogenic activities are accelerating geomorphic hazards in Himalayan states.

Choose the correct answer from the options given below :

. A and B Only
.Band C Only
. Aand C Only
.Aand D Only
1) 1
(2) 2
3) 3
(4) 4

FfRad SuAl | U Uel dyAl &1 UgaH ST -

A. IR A RHTed 50 Yy 3R YRaed ¥ iid gUE ¢ |

B. TeaTed udd SR H Sarargdl UG e B UG Siid 3 |

C. Sldhd Yhy & YdigH+ YYd ¢ |

D. AHgH-S Tidfaierat igamedt Il # Y- 3idids WoRl @ @Rd G S |

1 U T fadhed! H T Gad IUged 3R &1 98- BHiforu ;

1. hdd A 3R B
. FIAB 3R C
3. FAAASMRC
4.Hdd A AR D

1)1
(2) 2
(3) 3
(4) 4

B O R

1[Option ID=31469] Question Description : geography_geography_set-1_english_q43
2[Option ID=31470]
3[Option ID=31471]
4[Option ID=31472]

prepp

Your Personal Exams Guide

Sl. No.44
QBID:180044

Which of the following is / are non-structural measures used to mitigate floods?

A. Maintaining wetlands.

B. Prevention of over-bank spilling by the construction of embankments and flood walls.
C. Flood forecasting and warning services.

D. Disaster relief, flood fighting and public health measures.

Choose the correct answer from the options given below :

. A and B Only

. Aand C Only
.B. C and D Only
. A, CandD Only
(1) 1

(2) 2

(3) 3

(4) 4

B S R



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in rrepp

Your Personal Exams Guide

a1 § Hdl T & fou [afaRgd & 9 & 91/ S99 TR-UEHES 3 / 39| 6l Ugad [ha1 |idr g 2

A. 3T YT D] &1L G

B. dedel 3R d16 ¢l SHarl & (AU gRI de/fBAR U HW H{darg i AHyH |
C. 916 & IR H Yfawsgaroft 3R ddrg-1 Yard |

D. 3{IUGI G, dg BT UlRIY HAT 3R Fidui - W UM |

+1d feu U fadhet! & T Tel IR &1 98- BHiforu :

1. $hadd A 3R B
). FATAIMRC
3. HdA B, C 3R D
4. Hdd A, C3RD

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=31473] Question Description : geography_geography_set-1_english_q44
2[Option ID=31474]
3[Option ID=31475]
4[Option ID=31476]

Sl. No.45
QBID:180045

Which of the following organic molecules contain nitrogen?

A. Amino Acids

B. Ozone

C. Peptides

D. Proteins

E. Carbon Monoxide

Choose the correct answer from the options given below :

1. Aand B Only
2.Band C Only
3. A, CandD Only
4. A, D and E Only

1)1
(2) 2
(3) 3
(4) 4

fFafRgd & 9 MY SRS 3] g, 58 Aigcio SH1idy giaig 2
A. U1 o
B. 3flSiF
. ypEsd
D. UI¢H
E. BEH AHGES
A1 4T U f[qdhed! H T Ug! SR &1 98- Blifold -

1. $Hdd A 3R B
. FIAB 3R C
3. Fad A, C 3R D
4 HIAA. D 3RE

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31477] Question Description : geography_geography_set-1_english_q45
2[Option ID=31478]
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3[Option ID=31479]
4[Option ID=31480]

Sl. No.46
QBID:180046

Which of the following options correctly represent the different categories of work status as per the Census of India, 2011?

A, 0-3 months
B. 3-6 months
C. 0-60 months
D. 6-12 months
E. 1-2 year

Choose the correct answer from the options given below :

. A, B, D, E Ouly
.C,D, E Only
.B. D, E Only
.A,B.D Ouly
(1) 1

(2) 2

3) 3

(4) 4

URA B SV 2011 & SUR, S [fd &1 {71 9ori ol (AafeiRad o 9 @19 91 fadbed 981 71 Y Udd ddi g 2

A.0-3 18
B. 3-6 HIg
C. 0-60 HIZ
D.6-12 Ag
E.1-2dY

1 feu U fadhed! | T el IR b1 98 BHiforu :

1.$dd A, B,D.E
.$dd C. D, E
3. $dd B,D.E
4.%bdd A, B.D

1) 1
(2) 2
(3) 3
(4) 4

B O R

o]

1[Option ID=31481] Question Description : geography_geography_set-1_english_q46
2[Option ID=31482]
3[Option ID=31483]
4[Option ID=31484]

Sl. No.47
QBID:180047

Which of the following elements accurately represent features of urban morphology of a town?

A Internal Structure and arrangement of towns.
B. Arrangement of roads and building in town.
C. Functional zones within a region / district.

D. History of development of country / region.
E. Land uses planning in towns.

Choose the correct answer from the options given below ;
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ol R B TR BN B! fa=wdrsf o FHafaiad § 9 &F d d201 981 &7 Y UK &3 g 2

A. TRI B 3HTdRS Y1 Ud TRl BT {9079 |
B. 'R H ARl U4 el &1 [daT |

c. T &7/ 9Hue & HiR yeaids |@vs |
D. G/ &3 & [dH1 HI 3fde |

E. IR ¥ Yy 39z fAaieH

A 16U U fddedl H U gl 3R &1 I99d BifoTe :

1. $dd A, B.C.D
2. HAd A, B, C.E
3. AT A, B, E
4. A A.B,D.E

1) 1

(2) 2

(3) 3

4) 4

1[Option ID=31485] Question Description : geography_geography_set-1_english_q47
2[Option ID=31486]
3[Option ID=31487]
4[Option ID=31488]

prepp

Your Personal Exams Guide

Sl. No.48
QBID:180048

Which of the following statements are correct?

A. Coffee is native plant of the Southern Ethiopian highlands.

B. Merino sheep are kept chiefly in the drier and warmer regions of temperate latitudes.

C. The most important factor affecting the silk industry is the availability of cheap female labour.
D. Robusta coffee is the most important in world trade among three major types of coffee.

E. Coffee contains tannin acid.

Choose the correct answer from the options given below :

. A, Cand D Only
. A, Band C Only
.B. D and E Only
.C.D and E Only
1) 1
(2) 2
3) 3
(4) 4

PR A - U T8I 8 2

A. BIP] G0 ST S Y B g Yi g |

B. AT 31&i<1i & b a7 TH UG H G ARAl Usl DI @ Sl ¢ |

C. XM I D1 GUIfdd D drell Yo Tgedyul HReb & Al 4T Bl JuAAI B |
D. BIB1 & diF T UbRI H, AR BIh1 &1 {94 AR F Gaiidd g ¢ |

E. BB § -4 A giar g |

I 16U U fd@edl H U U8l 3R &1 I99d BIfoTu :

. HIAA. C3R D
2. FIAA.B 3R C
3. $Ad B, D 3R E
4. %adc,D3IRE

(1) 1
(2) 2
(3) 3
(4) 4

B O B

1[Option ID=31489] Question Description : geography_geography_set-1_english_q48
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2[Option ID=31490]
3[Option ID=31491]
4[Option ID=31492]

prepp
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Sl. No.49
QBID:180049

Which of the following measures are considered in the United Nations Human Development Index (HDI)?

A. Per capita income

B. Literacy

C. Life expectancy

D. Infant mortality rate

E. Per capita energy consumption

Choose the correct answer from the options given below :

1. A, B, E Only
2.A.D,E Only
3.A B, COnly
4. A, C.D Only

(4) 4

7% 7 ¥ B Y AUD Yo Y Hd fdb g Yadbis (D1 H 9iEfiad ¢ 2

A, Ui aafdd 3mg
B. g1&Rdr
C. Sia g

D. RIYIgg R
E. Ufd Sfdd ol SUHIT

A 16U U fadedl A U gl 3R &1 99 BIfoTd :

1. bdd A, B.E
" $AAdA.D.E
3. HAdd A, B, C
4. $dd A, C,D

1) 1
(2) 2
(3) 3
(4) 4

[

1[Option ID=31493] Question Description : geography_geography_set-1_english_q49
2[Option ID=31494]
3[Option ID=31495]
4[Option ID=31496]

Sl. No.50
QBID:180050

Consider the following assumptions of regression analysis.

A. The values of dependent variable are normally distributed.

B. The values of residuals have skewed distribution.

C. The variance of dependent variable is constant for all values of the independent variable.
D. The values of the residuals are independent to each other.

Choose the correct answer from the options given below :

1. B and D Only
2. Aand B Only
3. A, Cand D Only
4. B, C and D Only
1 1
(2) 2
3) 3
(4) 4
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gl fageiyur & fFyfafad gduromsii R faar i |

A. FR =R & ge (@ &1 faao g9 gian g |

B. 3{dIA¥[ & Al &I [qaR0 [q9H BT B |

C. TR =R &1 TR0 WA W & Y gei & e Fad giarg |
D. HafRIF & G Uh-geR Y WA Bl ¢ |

T fau Tu fadedl ¥ 9gl 3Tk &1 98- HIfoIu -

1. $dd B AR D
. HId A IR B
3. FIAA, C 3R D
4.9Ad B, C 3R D

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=31497] Question Description : geography_geography_set-1_english_q50
2[Option ID=31498]
3[Option ID=31499]
4[Option ID=31500]

Sl. No.51
QBID:180051

Consider the following statements about transport and infrastructure in India.

A. National Highways constitutes less than 2% share to the total road network of India.

B. BRO (Border Road Organization) has taken up project for construction of infrastructural facilities like schools,
hospitals and airport buildings also in inaccessible areas.

C. Indian Railways has been divided into 16 zones for its operation and management.

D. HBJ (Hazira-Bijaypur-Jagdishpur) pipeline was developed to supply the crude petroleum for refining to the continental

parts of India.
Choose the correct answer from the options given below :

.A. B, C Only
.B, C.D Only
A, C,D Only
.A,B,D Only

1) 1
(2) 2
(3) 3
(4) 4

HRA H AIarNd SR SaeReH1 Y Haield (9 $YUA! &1 sfacidd oY |

A. HRd & YOI G cad # 9T Ao &1 gwm 20 F Hi A g |

B. SI3R3H] (T GS& W) 4 i &3 ¥ Wd, SRYTd 3R gals 313! &1 SaRdl ol 9f-arg! giaen o i a
ferg 4t TSI R BI T | _

C. HRGIY ¥cl &l TdTei 3R Yt & w16 S H fauiferd fear g |

D. Td &1 ol (BRI - [AeigyR - SAIEIRIYR) UISUdrE & (a0 o Uiferad & iy & 67U 39! 31gfd YRd &
TETRIUTT U § & & ferg fhar T g |

i feu U faded! | T el IR &1 I8 Hiforu :

1.$dd A, B, C
2. $dd B, C.D
3. $dd A, C.D
4.%dd A, B.D

1)1
(2) 2
(3) 3
(4) 4

O
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1[Option ID=31501] Question Description : geography_geography_set-1_english_q51
2[Option ID=31502]
3[Option ID=31503]
4[Option ID=31504]

Sl. No.52
QBID:180052

Which of the following statements are correct?

A. Reddy is the dominant land owning caste of Tamil Nadu.
B. Jat is the landless caste of Haryana and UP.

C. Kurmi is the agrarian caste of eastern India.

D. Patel is the land owing caste of western India.

E. Namboodari are the brahmin of Kerala.

Choose the most appropriate answer from the options given below :

. A, B, C Only
.B, C, D Only
.C, D, E Only
. B, C, E Only
(1) 1
(2) 2
3) 3
(4) 4

A Y DH-Y HYT TGl g 2

A. YS! THTHIg D Uy @RI / T Y& SIfd g |
B. SRAN 3R IR U= H e YHgH SiIfd 8 |

C. BHI gdl YRd B HIY HIU (GYD) Sd G |
D. Ucd UiHH YRd $i Y1 STifd ¢ |

E. Figedl R S JEv ¢ |

I feu 7 faded! ® 9 a8 IUgdd IR &I 98- BHifold :

1.$ddA. B, C
. $Hdd B.C,D
3. $dd C,D,E
4. $ddB,C.E

1) 1
) 2
(3) 3
(4) 4

B N

]

1[Option ID=31505] Question Description : geography_geography_set-1_english_q52
2[Option ID=31506]
3[Option ID=31507]
4[Option ID=31508]

Sl. No.53
QBID:180053

Which of the following statements are correct about Chinese contribution to Geographical thought?

A. Chinese scholars first developed a scientific method of cartography based on a rectangular co-ordinate system.
B. They were the first who put forward the idea of the periodic nature of the monsoons.
C. They recognized that Africa was a southward pointing triangle whereas on contemporary maps it was always

represented as pointing eastwards.
D. They opined that "geography is not concerned with the individual plants but rather with the plant and animal cover".

Choose the most appropriate answer from the options given below :

.Band C Only
.Cand D Oaly
. Aand B Only
.Aand C Only
1) 1
(2) 2

B R
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3) 3
(4) 4

Himmferd AT # 9 S qeH & R A Feffad H P Py el g 2

A. T fagHT 7 TSR SIS Ul & YR TR AHTAdG B J9-d (a1 ©1 Ja9 Tgd [qoid & |

B. 354 HFYH &1 3M1aféd Udhid S faaR Yad Ugd Wedd fdbar |

C. 35 Udl I & 37ibTehT AIYSTIpR ¢ fordeh1 XY afar &1 3R g Sidid YHa e AFfE! § 39T 2 gad
Td &1 3R S ol |

D. 3T 9d AT o Y1Iel T T ST e Uielt § 9T diced Ulelf 3R SIal & R g 1!

I feu 7 faded! & 9 999 IUgad IR &I 98- BHifold :

. HIAB 3R C
2. FIAC IR D
3. Had A 3R B
4. Hdd AR C

11
(2) 2
(3) 3
4) 4

1[Option ID=31509] Question Description : geography_geography_set-1_english_q53
2[Option ID=31510]
3[Option ID=31511]
4[Option ID=31512]

Sl. No.54
QBID:180054

Which of the following statements are correct?

A. Knowledge Processing Outsourcing (KPO) comes under quinary services.

B. Research and Development (R and D) activities and e-learning are examples of Business Process Outsourcing (BPO).
C. The BPO is distinct from KPO as it involves highly skilled workers.

D. Outsourcing is coming to countries like India due to availability of cheap and skilled workers.

Choose the most appropriate answer from the options given below :

1. B and D Only
2. Aand D Only
3. Aand C Only
4. A, C and D Only
(1) 1
(2) 2
3) 3
4) 4

Fafad Y @A I HYT Igi g 2

A. TS YRR Sr3eHITET (.Ul 311.) e dareil & sidiid ol g |

B. MY U9 fAH M (3R, U= S1.) Tiafaferdt sk S-af-e1 fao-g Uy S3eHiRT (@l.dl.31.) & Iaeru g |
C. d1YL3IL, BUL3L U 49 g A SUH I DI=Ie U Yife GiEfeid gid ¢ |

D. U 3R IRl HiHb] B SUASdl & HRUT HRT oI G H SA3CHIRNT ST ¢ |

i U U fadhed! H T gad IUgad SR &1 98- BT ;

1. $dd B AR D
2. FITASRD
3. PAdASMRC
4. FAdA. C3RD

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=31513] Question Description : geography_geography_set-1_english_q54
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2[Option ID=31514]
3[Option ID=31515]
4[Option ID=31516]
Sl. No.55
QBID:180055

Which of the following statements are correct 7

A. The total value of goods and services traded is considered to be the volume of the trade.

B. Volume of trade includes only trade of goods.

C. India is founder of ASEAN bloc.

D. The practice of selling a commodity in two countries at a price that differs for reasons not related to costs is called
dumping.

Choose the most appropriate answer from the options given below :

. Aand C Only

. Aand D Only

. B, C and D Only
.Band D Only
1) 1

(2) 2

(3) 3

(4) 4

fFaffad A I s I Pyl g

A. 93 3R Harefl & AR & Dol G Bl IR bl TRHTI AHI 1S |

B. AUR & GRA § hde a¥ il BT AR FHfed g |

C. YRd AR (TUY.3.U.UH.) & YRIUSH el g |

D. AT 1 €fP U 81, I -3 SRUIN Y ST el HiHd IR (B4l 9% &l al o=l J [dhd B @l Ul I 31
DA DL Sl G |

B R

i fGu U fadhed! H T Gad IUgad 3R &l 98- BHiforu :

1. HAd A SR C
. FIAA3IRD
3. $ddB,C3IRD
4. Hdd B 3R D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31517] Question Description : geography_geography_set-1_english_q55
2[Option ID=31518]

3[Option ID=31519]
4[Option ID=31520]

Sl. No.56
QBID:180056

Which of the following are correct statements ?

A. Fossil fuels and nuclear fuel are non-renewable sources of energy.

B. The sources of renewable energy are mainly forces of nature that are sustainable and that usually cause huge
environmental pollution.

C. Energy use is one of the main contributor to human-induced climate change.

D. There are zero emissions of green house gases from nuclear power plants.

E. The relative prices of the different types of energy do not influence demand.

Choose the most appropriate answer from the options given below :

. A, Cand D Only
. A, D and E Only
.B. D and E Only
.C.D and E Only
(1) 1
(2) 2
3) 3

N R
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(4) 4

fFaffRadd I P I Py el g2

A. SIATRY 24 3R URATY] ¢ Sl &b GOV HId § |

B. TR Soll & Hid HE&Id: Upid &1 Afdddi g, S R § 3R SMdR TR Y maiarofia gyt It dxdl ¢
|

C. Gl BT UGN HHd-Ygd STefdr] URdcd § U T GG ¢ |

D. TR (e G431 I AHeT3Y T4l &1 YA SHoiA gidl g |

E. Foll & 113z YR &1 U8 HIFd HiT bl YuTfad i Hal |

i U U faded! # T Gad SUgad 3R &1 98- iU ;

1. Hdd A, C 3R D
2. $dd A. D 3R E
3. $ddB.D 3RE
4. HadC,. D AR E

) 1

() 2

(3) 3

4) 4

1[Option ID=31521] Question Description : geography_geography_set-1_english_q56
2[Option ID=31522]
3[Option ID=31523]
4[Option ID=31524]

Sl. No.57
QBID:180057
-

Which of the following statements are NOT correct with reference to Von Thunen's Agricultural Location Theory?

A. His ideas were based on Weaver's concept of economic rent.

B. Navigable river or irrigation facilities do not have any impact on concentric land use zones.
C. In real life farmers are always economic and rational in decision making.

D. Firewood and timber production zone has lost its validity.

E. Isotrophic surfaces are universal in Asia.

Choose the most appropriate answer from the options given below :

. A, Cand E Only

. A, Band C Only

. C.D and E Only

. A, B, Cand E Ounly
(1) 1

(2) 2

3) 3

(4) 4

it up % T sraTRIR i & dar & PaRiad ol 218 &9 9 B 98 T8 & 2

A. 3¢ [daR diaR @1 311 T H DI YR TR R |

B. Uhg g YT Iug Wus| | ArE=ra-i ai a1 g &1 giaesii o1 oig UHId g glar g |
c. arfad St # fd god 2fifd ok ahdd e 9 FAofg axd € |

D. 3¢ ddol 3R R ddhol & IdGH & YA T gb ¢ |

E. TR # gl 9@ Idyifia ¢ |

e U T fadhed! | T Gad IUgad SR &1 98- HIoTU ;

1. $Hdd A, C 3R E
2. FIAA. B3R C
3.$dd C.D 3R E
4. HIA A. B, C 3R E

@) 1
) 2
3) 3

B S O R
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(4) 4

1[Option ID=31525] Question Description : geography_geography_set-1_english_q57
2[Option ID=31526]
3[Option ID=31527]
4[Option ID=31528]

Sl. No.58
QBID:180058

Consider the following statements related to man-nature interaction.

A. In Himalayan region pine trees are more prone to forest fire.

B. Shifting of cropping pattern from diversified crops to monoculture is a threat to food security in India.
C. Slum habitation is associated with metropolitan cities only.

D. Alternate cultivation of wheat and rice in rabi and kharif season deteriorate the nitrogen in soil.

Choose the most appropriate answer from the options given below :

. A, Band C Only
. A, Band D Only
.B. C and D Only
. A, Cand D Only
(1) 1
(2) 2
(3) 3
(4) 4

AHS-UPid B Sid:idhar & He # Fafeigd Syl IR #H S|

A. Tearardt uer | <ts (ursH) & gail | 9-319 &l 3 YU BIdi © |

B. fafdy Byl ¥ Udhd B (Uh Byl B 3R BYd Uidkey § uRdd 9 YRd T Grel Y& & IRl g |
c. Afe aial ¥ (9919 had AgHRI 9 Yeidd g |

D. Tl 3R T® 31 gl # 7 2R I6d 31 dbicdd Wdl 3§ Y H e eH BT eRU B¢ |

e U T fadhed! # T Gad IUgad 3R & 98- BT ;

1. Hadd A, B3R C
2. FId A, B 3R D
3. $dd B, C AR D
4. FAdA. C3RD

11
(2) 2
(3) 3
4) 4

B R

1[Option ID=31529] Question Description : geography_geography_set-1_english_q58
2[Option ID=31530]
3[Option ID=31531]
4[Option ID=31532]

Sl. No.59
QBID:180059

Consider the following statements related to infrastructure, literacy and natural resources of India.

A. Indira Gandhi canal originates from Harike Barrage at the confluence of Satluj and Ravi rivers.

B. Effective literacy rate is calculated as the number of literate persons out of the total population aged 5 vears and above.
C. Project Tiger was launched in 1973 with 9 tiger reserves and by 2018 it reached to 50 tiger reserves.

D. Gujarat accounts the second largest mangrove forests in India.

Choose the most appropriate answer from the options given below :

. A and B Only
.Band C Only
.Cand D Only
. Aand C Only
(1) 1
(2) 2
3) 3
4) 4

B O R
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FafaRad arl IR [daR SIS Si SaeReHT, HeRdl SR YRd & Uidhidd Sare! 9 JdfEa g |

A. ST et T8 gaeS SR 4t Afedl & 9w W g e 9 i § |

B. AT (W) HI&RAT &3 ! 0T 5 98 3R i€ 31 &1 Dol el H I HIeR| i Y21 ¥ &1 Sl g |

c-.amuﬁfuﬁé—ﬂm 3RY 1973 T o STHT & TRAEA 31 TRV Y {1 741 AT SH 2018 T &TEll & 50 TRAET ARG I
Jgd T § |

D. ToRTd URd H IR Yad §31 HYid 99 39dI ¢ |

i fGu T fadhed! H T Gad Iuged 3R &1 98- Biforu ;

1. $Hdd A 3R B
. FIAB 3R C
3. HadC 3R D
4. HAA A MR C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31533] Question Description : geography_geography_set-1_english_q59
2[Option ID=31534]

3[Option ID=31535]
4[Option ID=31536]

Sl. No.60
QBID:180060

Which of the following trenches have depth less than 10,000 metres?

A. Kurile Trench

B. Puerto Rico Trench
C. Java Trench

D. Tonga Trench

Choose the correct answer from the options given below :

l. Aand B Only
2. B and C Only
3. B and D Only
4. C and D Only

(1) 1

(2) 2

(3) 3

(4) 4

fAgfeiRad o U fdod @8l &1 1805 10,000 HIER Y HH B 2

A A
B. Jci il @
C. a1 s
D. CHI A8

Id TeU 7T fadhed! © § ol IUGH IR BT 99 Hiford :

1. Hdd A 3R B
2. FIAB 3R C
3. $IAdB 3R D
4.Hdd C IR D

11
(2) 2
(3) 3
4) 4

1[Option ID=31537] Question Description : geography_geography_set-1_english_q60
2[Option ID=31538]
3[Option ID=31539]
4[Option ID=31540]
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Sl. No.61
QBID:180061

Which of the following statements about impact of climate change on oceans are not true?

A. The oceans have become less acidic over the past few decades.

B. The sea surface temperature has increased during the last century.

C. Sea level has risen at the rate approximately six-tenth of an inch since 1880.
D. The oceans will store less carbon-di-oxide in the coming vears.

Choose the most appropriate answer from the options given below :

. A and B Only
. Aand C Only
.Band C Only
.Aand D Only
(1) 1
(2) 2
3) 3
4) 4

TENFRI R Sicar] URad & UHE & aR J FHaffad 4 9 & H 9 U9 9g1 81 § 2

A. T $% o2o! 9 HEMIR &1 S s U E |

B. &l dsd] & SRA YL YIg & ayAH T 4G ge © |

C. 1880 Y UG AR H U 39 b THTHT 6¢/10d YA DI X IS8 ¢ |
D. HEMNIR FTHI 99 & & Dlad-Sls-HRI13S Bl HSRU H] |

B R

1 U U fashed! H T Gad IUged 3R &1 98- BT ;

1. hdd A 3R B
2. FATA SR C
3. HIAB 3R C
4. 9dd AR D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31541] Question Description : geography_geography_set-1_english_q61
2[Option ID=31542]

3[Option ID=31543]
4[Option ID=31544]

Sl. No.62
QBID:180062

Which of the following statements are correct about Coriolis force?

A. Coriolis force is present in all motion relative to Earth.

B. Coriolis force is maximum at equator and zero at pole.

C. The strength of Coriolis force varies with speed of motion and also decreases with latitude.

D. The amount of deflection caused by Coriolis force varies according to rotation of earth, longitude and object.

Choose the correct answer from the options given below :

. A and B Only
.Band C Only
. Cand D Only
. Aand C Only
1) 1
(2) 2
3) 3
(4) 4

B R
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DR sa & gy 4 FefaRad S I s T s O € 2

A. DINHTTY g1 gedl & grder g il o Suf@d g |

B. BRI Fel YHER@l WR HUHdd 9 Ydl R YA Il g |

C. HINTTT §e D1 fekd 7T & 97T & 1Y gikafcid gicl g SR & & Wy ged i g |

D. BIRHTAT a9 & BRI GU [qda & JE1 gadl & gulH, SRR 3R 9% & AR F 8l ¢ |

T feu U fasedl § 9§ Uel 3tk &1 99+ DIfor

1. $hadd A 3R B
). FIAB IR C
3. $ad C 3R D
4. Badd A AR C

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=31545] Question Description : geography_geography_set-1_english_q62
2[Option ID=31546]
3[Option ID=31547]
4[Option ID=31548]

Sl. No.63
QBID:180063

Which of the following data are sources of proxy data for climate change studies?

A historical documents
B. sea floor sediments
C. satellite data

D. fossil pollen

Choose the correct answer from the options given below :

A and C Only

B and C Only
.A,BandD Only
.C and D Only

1) 1

) 2

(3) 3

(4) 4

Siefarg uRad Heell gl o fofe Fafafad O 9 &F 3 Uil siesi S |idg 2

A. UfagIis GxEs
B. YHg deilg 3qdrg
C. 3UUgl g1

D. SIIdTH] TR

1 16U U faredl | U gl 3R &1 99 HIfe;

1. had AR C
>, FIAB 3R C
3. F9d A, B3IRD
4.%dd C AR D

1) 1
(2) 2
3) 3
(4) 4

R

1[Option ID=31549] Question Description : geography_geography_set-1_english_q63
2[Option ID=31550]
3[Option ID=31551]
4[Option ID=31552]
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Which of the following statements are correct with regard to the effects to global warming?

A. Due to global warming it is believed that heat waves may increase in future.

B. Tropical cyclones will be more intense.

C. It is likely that area affected by droughts will decrease.

D. The models indicate that some regions will experience significantly more precipitation and runoff.

Choose the correct answer from the options given below :

. Aand C Only
.Band C Only

. A, BandD Only
. A, CandD Only
(1) 1

(2) 2

3) 3

4) 4

YHSA AU & yuEl & ey B g d A s I DY 9gi g 2

A. YASHE d199 & SR AT Sl g b Hids H Iwrd] dgl § i< gl 9l g |
B. Skl Fehard it Yad gil |

C. Y4 Y YHIfdd &3 & g &l UG ¢ |

D. HISd $H1d ®3d ¢ fb Do &=l # it auur 3fR S Udlg (37 1) BI7 |

1 fGU TTT fadhed! # T Gad IUGed 3R &1 98- BIGIU:

1. had A3R C
. FIAB 3R C
3. $dd A, B 3R D
4 HIAA. C3ARD

1) 1
(2) 2
3) 3
(4) 4

B R

1[Option ID=31553] Question Description : geography_geography_set-1_english_q64
2[Option ID=31554]
3[Option ID=31555]
4[Option ID=31556]
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Sl. No.65
QBID:180065

Which of the following statement/s is / are correct?

B. More tropical cyclones occur in Bay of Bengal than Arabian sea.
C. The cyelonic systems developed in Pacific Ocean have impact on South-East Asia.
D. Intensification of cyclone within 5 to 22 hrs. makes prediction of its track difficult.

Choose the correct answer from the options given below :

. Aand B Only

. C Only

. A, Band C Only
.B. C and D Only
1) 1

2) 2

(3) 3

(4) 4

B O R

A. The intensity and frequency of tropical cyclones is increasing but economic damage is decreasing.
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faffadH IS/ Py a8/ 2

A. IO Iehdrdl &1 Udeldl 3R Wiidad | dfg 81 81 8 W oM &fd e Il g |

B. 3Rd YR &I 3U& ST @l Wist # 3ifed IWhieas ashard ofld g |

C. TRITd ISR T fAD 1R dchardi =1 BT GI&oil-gdi TR R y4q USdi @ |

D. 5 Y 22 Hel & YidR Ishdld & Udd gl 5l & HRUI 38 T &l Gai-TH RIHT Hid 81 Sl ¢ |

HId feu 7 faded! & § 9a¥ IUgdd IR &I 99 BHifold :

1. Hadd A 3R B
2. $Hdd C

3. FIAA. B3R C
4.$9d B, C 3R D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31557] Question Description : geography_geography_set-1_english_q65
2[Option ID=31558]
3[Option ID=31559]
4[Option ID=31560]

Sl. No.66
QBID:180066

Match List I with List IT

LISTI LISTII
(Tvpe of Volcanic eruption) (Characteristics)
A [Pelean type L More_ fluid basa..l‘ric. lava
2 effusive and quite in nature.

ol |2 T o Les_is fluid basg.l_tic lava and
having explosive nature.
Wiscous lava, which do not

C. |[Strombolian tvpe III.  |remain liquid after contact
with air.

R . v E_l_)memel_\-' viscous lava with
violent character.

Choose the correct answer from the options given below:

. A-IV, B-1, C-1I, D-III
. A-IV. B-II, C-1, D-III
. A-TV, B-I1, C-III, D-1
. A-IL, D-1, C-IV, D-III
(1) 1
(2) 2
(3) 3
(4) 4

R
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1[Option ID=31561]
2[Option ID=31562]
3[Option ID=31563]
4[Option ID=31564]

?fﬁl(ﬁ'l?j]gm@ﬁmﬂf S —
SHi® gidd sUliced
A [0 UBR 1. [oTar e gy id
Tahid |
T Siad sllead aal
B. [§ATH UHR 1L [3R & [q¥hied udhd
@IEde |
O T1d1 ol 8dl & "9
C. [ TR 101 [H 37 & §7g garey
S EdIE | -
_ |oraftre == e
D. [dedblHaH UBR V. = rr o
fgfciRad [ddedl H 4 Ul IR &1 99 Bifou -
1. A-IV, B-I, C-II, D-III
2. A-IV, B-1I, C-I, D-III
3. A-IV, B-1I, C-IIL, D-I
4. A-IL, D-I, C-IV, D-1II
11
(2) 2
(3) 3
4) 4

Question Description : geography_geography_set-1_english_q66

prepp
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QBID:

Sl. No.67

180067

Match List I with List IT

LISTI LISTII
(Term) (Coined / First used by)
A |[Ethology I.  |Ermnst Haeckel
B. |[Ecology II.  |St. George Jackson Mivart
C.  |[Hexicology 1. [T Grinel
D. |Ecological niche IV. [lsodore Geoffrov St. Hilaire

1

3.
4.

A-L B-IV, C-II, D-III

2. A-IV, B-1, C-1I, D-III

A-IV, B-1L, C-1. D-III
A-I, B-1II, C-IV, D-II

(1) 1
(2) 2
(3) 3
(4) 4

el 1T Gl 11 U e Sifee

Choose the correct answer from the options given below:

T 1 R g many
= 1 (ST TEeh IR TgE
A [l (ERIRE) | 1 |32 g
B. [uifeufad! fagH I [ge 9SS Wiy Hare
C. [efogmiadmei oL [of B
p. |[TRRUfI®T e v |[STEHISR fommsl He
© |(Niche) )
fafaRad fasadl @ U Ugl 3R &1 99+ HIfU -
1. A-I, B-IV, C-II, D-III
2. A IV, B-1, C-II, D-III
3. A-IV, B-11, C-I, D-III
4. A-I, B-III, C-IV, D-II
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(1) 1
) 2
(3) 3
(4) 4

2[Option ID=31566]
3[Option ID=31567]
4[Option ID=31568]

1[Option ID=31565] Question Description : geography_geography_set-1_english_q67

prepp
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Sl. No.68
QBID:180068

Match List I with List IT

i LISTII
(Approach to Environmental (NEeaninis)
Ethics) 3 g2
[Views that social hierarchies are
A |Anthropocentrism I |directly connected to behaviours that
lead to environmental destruction.
Views that environment deserves direct
X : imoral consideration and not
B. [Biocentrism II. d 2 = ; .
consideration that 1s mainly derived
from human or animal interests.
(Views that all environmental
C. [Ecocentrism III. |responsibility 1s dertved from human
interests alone.
D |Scciat Bedlony v 3-'1'5“'5 tha.r all f'orrnfs of life have an
inherent right to exist.

1. A-IITI, B-1, C-IV, D-II
2. A-III, B-IV, C-I1, D-I
3. A-IIL B-IV, C-1, D-II
4. A-TL, B-1, C-IV, D-III

1) 1

) 2

(3) 3

(4) 4

Choose the correct answer from the options given below:

Tt 11 T 11 Y T By

I 1 (TR Afdedl &
T § IUNTH)

TR 1 (31

A [hfaeare

EOH AFI Wl 6 (6
SR GEERREE
Taiaeoity faam=r &
AT Ue e € |

EOH AFI Wl 6 (6
Taiar Ug Afae
Hew & a3 A
7 9% Hew. ol A4
a1 9 @1 Sfeaf 4
T fpaT ol & |

EOH AFI Wl g (6
TafaRofig

Rprst
L [3wardd dad
AT St 8 U
T o & |

D. [gHEIfed TRRfAH]

=gH gl & [
- SitaH & g = ul &f
g b Sl e
HEIBRE |

1. A-IIIL, B-1, C-IV, D-II
2. AT, B-1V, C-II, D-1
3. A-IIL B-1IV, C-1. D-II
4. A-Il, B-1, C-IV, D-1II

fgfciRad [ddeul ¥ 9 Yol 3wk &l 994 Bifou -
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1) 1

(2) 2

3) 3

(4) 4

1[Option ID=31569] Question Description : geography_geography_set-1_english_q68
2[Option ID=31570]

3[Option ID=31571]
4[Option ID=31572]

prepp

Your Personal Exams Guide

Sl. No.69
QBID:180069

Match List I with List IT

LISTI LISTII
(Type of Region) (Example)
A [|Planning Region I |Metropolitan Fegion
B. [Formal Region II. |NCR
C.  |Nodal Region I [Middle-East
D.  |Vernacular Region IV. [Climatic Region

Choose the correct answer from the options given below :

l. A-I, B-II, C-III, D-IV
2. A-IV, B-11, C-1, D-III
3. A-IL B-1V, C-1, D-III
4. A-I1, B-1I1, C-IV, D-1
11
() 2
(3) 3
(@) 4
el 1 1 i 1 Y A iy
1 1 (IST & UPR) e 11 (ISTET0N
A [FTeE gem 1 [HerTRiA Uex
B. [3fiudTia HemI I [o9.d3R.
C. [Arsa e . [ge.0d
5, %I\_ﬁ'\/:d TR @ PR | B REET

FfaRad [deedl § U gl 3R &1 99 I -

1. A-L, B-1I, C-IIL, D-IV
2. A-IV, B-11, C-1, D-III
3. A-IL, B-IV, C-1, D-II
4. A-IT. B-TIL, C-IV, D-1
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31573] Question Description : geography_geography_set-1_english_q69
2[Option ID=31574]

3[Option ID=31575]
4[Option ID=31576]

Sl. No.70
QBID:180070



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in

Match List I with List IT

LISTI LISTII
(Regional Bloc) (Headguarter)
A |ASEAN I |Kathmandu
B. [EU II.  |Takarta
C.  |OPEC I |Vienna
D |SAARC IV.  |Bruszels

Choose the correct answer from the options given below :

1. A-IV, B-III, C-I, D-II
2. A-IV, B-II, C-IIL D-I
3. A-IL. B-III, C-IV. D-1
4. D-1I, B-1V, C-1I1, D-I

1)1
2 2
(3) 3
(4) 4
Tt 11 Gl 11 Y T Sy
(= R e (o) 11 (FITT)
A PREOEETEsIE | L [@Rdas
B. g3 I [Srbral
C. [3iue 3z . [faEn
D. [Udh (@EUUHRA) | IV [gHcd

i feu e fasmeul § 9 Ul 3wk &1 99 Difor :

1. A-IV, B-1II, C-1, D-II
2. A-IV, B-11, C-1I1, D-1
3. A-II. B-1II, C-IV, D-1
4. D-II, B-1V, C-1II, D-I
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31577] Question Description : geography_geography_set-1_english_q70
2[Option ID=31578]

3[Option ID=31579]
4[Option ID=31580]

prepp

Your Personal Exams Guide

Sl. No.71
QBID:180071

Match List I with List IT

LISTI LISTII
(Concept) (Characteristics)

[Frequent repetition of act to the extent that

A |Taboo I it becomes characteristic of the group of
ipeople performing the act.

B lculture e Repe_t_xm'e act performed by particular
individual

C. IHabit o 1A restriction on behaviour imposed by
social tradition.
The body of social norms, beliefs and

D. |Custom IV lmaterial traits that together constitute a
[group of people of distinct tradition.

Choose the correct answer from the options given below:

. A-IL B-TV, C-II1L, D-1
. A-IL B-TV, C-I1L D-1
. A-IL B-1L C-IILL, D-IV
. A-IL B-1, C-1I1, D-IV
1) 1
) 2
3) 3
(4) 4

B R
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el 11 gl 11 Y e sifoe

Tl 1 (Fe)

= 1 (e

A [geT

@7 TI&01 § 9T |

Sl mmm%aﬁaw
g qi% dg 39
L o &) & art anit

B |rgh

el aafad gl d1Y
[ IR |

I

C |amed

[T RO Er

TdeR R Jd T |

grHTfed HYgUs,
ey qur Yifdear

V. [T & U 9ig w1

EIEARE AT
R 4141 & |

1. A-II. B-1V, C-III, D-1
2. A-IIL, B-IV, C-II, D-I
3. A-IL B-1, C-IIL, D-IV
4. A-III, B-1, C-II, D-IV

) 1

(2) 2

(3) 3

(4) 4

2[Option ID=31582]
3[Option ID=31583]
4[Option ID=31584]

fAgfciRad fadedl ¥ 9§ el 3R &l 99 Pifolu -

1[Option ID=31581] Question Description : geography_geography_set-1_english_q71

prepp

Your Personal Exams Guide

Sl. No.72
QBID:180072

Match List I with List IT

LISTI LIST II
(Thinker) (Contribution / Thought)

e I i L Planning with the people rather than planning for
them.

B. [Wright II. |Criticised geography as the science of distributions

C. |Bunge ITT. |Geosophy.

D [Hitiads v Drew attention on rhe formuhtion of laws
lgoverning spatial distribution of phenomena.

I. A-I B-III, C-II, D-IV
2. A-IV, B-11, C-I, D-TI
3. A-IL B-III, C-IV, D-1
4. A-III, B-1, C-1I, D-IV

1)1

(2) 2

(3) 3

(4) 4

Choose the correct answer from the options given below:
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el 11 gl 11 Y e sifoe

T 1 ([aR®) e N@REFIER)

ST o [og GieT ol

A [ETR L [§9g S9edNT & 91y
ST |
IR0l & fagH & &4

B. R®e L[| T 1 AT &)
|

C. [&m I [T |
ﬁam%aﬁﬁiﬁﬂﬁré?

D. &R R
SOTTHY |

A feu e fasmeul § 9 Ul 37k &1 99+ DIl :

1. A-I, B-III, C-II, D-IV
2. A-IV, B-1II, C-1, D-II
3. A-II. B-1II, C-IV, D-1
4. A-IIL, B-1, C-IL, D-IV
1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31585] Question Description : geography_geography_set-1_english_q72
2[Option ID=31586]

3[Option ID=31587]
4[Option ID=31588]

prepp

Your Personal Exams Guide

Sl. No.73
QBID:180073

Match List I with List IT

LISTI
(Techniques / TAS T
. (Application)
Analysis)

Most commonly recommended test for

A |Time Series Analysis 1i B —

Making predictions with reasonable

B. |Chi Square Test IL i
confidence.
¢ ICluster Analvsis e Comparing distributions on 2-dimensional
& surfaces.
o Eeoieis Cave v I‘rlr_r_lal}'_ be either agglomerative or
divisive.

Choose the correct answer from the options given below:

.A-IIL B-1, C-IV, D-III
. A-lI, B-III, C-II, D-IV
AL B-I1, C-IV, D-1
CA-IV, B-II0, C-1, D-1I
11
(2) 2
(3) 3
(4) 4

B O R
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et 1 I1 gl 11 9 e S

T 1 ([@BTP / Ta=erqun) HA1 11 (SAFUERT)
] SRl
A [P SRgE fE=eor L [Aisq & o0 walide
0§ UEgd TET|
T da il
B [®T WHIEX U& I [EeEdr s uy
Ua i A1
C. g fa=ewo III. aﬁa aﬁ'ﬁm R
. [mEwarEEEa W
D. [dRwiam N s g aware |

R N

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=31589]
2[Option ID=31590]

3[Option ID=31591]
4[Option ID=31592]

Question Description : geography_geography_set-1_english_q73

i feu U faded! | T el IR b1 989 Hiforu :

. AL B-I, C-IV, D-III
. A-L, B-III, C-IL, D-IV
. A-IIL B-II, C-IV, D-I
. A-IV, B-II, C-1, D-TI

prepp

Your Personal Exams Guide

Sl. No.74
QBID:180074

Match List I with List IT

LISTI LISTII
(GIS Analysis Function) (GIS Operations)
% Coxflblmng de_talled map categories to create g D
mew, less detailed categories.
Creates a zone of specified width around one or Network
B. In ;
more features. Analvsis
C Per_ml‘rs detel_"mn‘u.ng the stream flows in a n1, Psesasmitg
drainage basin.
Permits viewshed mapping of what terrain : :
L features can be "seen” from a specified location. IV [Agexegation

1. A-IV, B-1, C-II, D-III
2. A-I, B-III, C-IV, D-II
3. A-IIL B-1. C-II, D-IV
4, A-IL, B-III, C-I, D-IV

1) 1

(2) 2

(3) 3

(4) 4

Choose the correct answer from the options given below:
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et 1 I1 gl 11 9 e S

1[Option ID=31593]
2[Option ID=31594]
3[Option ID=31595]
4[Option ID=31596]

ST ST | st o ot e
A ﬁ‘ﬂﬂ$wﬁ ?ﬁ%ﬁ I [I6MI (Buffering)
P T B
B HeErukeme |
AT S|
3(UdTE o o 4T
C. [varel & FuRo @t L. (3R exgdl
AR STl
CEEEIEE]
&l &1
D. [a% g exdifha V. [Oq=5H /O E
A0 BT SHfd
&l |
i 3T U [qdhed! H T Ug! SR &1 98- BIfoT :
1AV B, €A1 -1
2. AL B-III, C-IV, D-II
3. AN, B-I, C-II, D-IV
4. A-II, B-IL, C-1, D-IV
1) 1
(2) 2
(3) 3
4) 4

Question Description : geography_geography_set-1_english_q74

prepp

Your Personal Exams Guide

Sl. No.

75

QBID:180075
Match List I with List IT

LISTI LISTII
(Coal Mining Region) (State)
A |Singareni I.  Maharashtra
B. |Ib river Valley II. harkhand
C. |Karanpura III. |Telangana
D. |[Kamptee IV, |Odisha

1%
2
3.
4,
1) 1
) 2
(3) 3
(4) 4

A-III B-1V, C-11, D-I
A-IlL, B-III, C-I, D-IV

A-L B-II. C-IIL D-IV’

A-TV, B-III, C-I1, D-1

Choose the correct answer from the options given below:
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il 1 I1Y | 11 T e Pifore

Tﬁﬂ | (PTIeT @ ax) T 11 RTs)
[EBE 1 [A8Ry

B. [Re-g gl I [EREs

C. [pTg1 ML [T

D. [&Hdl V. |3nfeEm

i feu v faeed! o 9 9T IR &1 98- DI :

L. A-IIT, B-1IV, C-I1. D-I
2. A-IL B-1II, C-1, D-IV
3. A-L B-IL, C-III, D-IV
4. A-IV, B-11II, C-II, D-I
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=31597] Question Description : geography_geography_set-1_english_q75
2[Option ID=31598]

3[Option ID=31599]
4[Option ID=31600]

Sl. No.76
QBID:180076

Arrange the following according to their related year in chronological order (first to last) .

A. Kyoto Protocol

B. Brudtland Commission
C. Paris Agreement

D. Agenda 21

Choose the correct answer from the options given below :

1.A,B,D,C
2.B,.D.A.C
3.B,A,D,C
4, A.D,C,B
(1) 1
) 2
3) 3
(4) 4

FafaRad &1 31 Haidd av & SR SIAHGHH (UUH ¥ 3id dd) § HafRud Bifofu |

A. FIE Uleidld
B. ggcds
C. URY gusiidar
D. TSl 21

A feu e fasetl § O Ul 3R &1 99+ DIfor

1[Option ID=31601] Question Description : geography_geography_set-1_english_q76
2[Option ID=31602]
3[Option ID=31603]
4[Option ID=31604]

Sl. No.77
QBID:180077
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Identify the correct sequence (descending order) of leading countries in wind power installed capacity in 2021.

A.USA
B. Germany
C. China
D. India

Choose the correct answer from the options given below :

1.C,D,A, B
9. A €8 1
3.C,A,B,D
4.A,C,D,B

(1) 1

(2) 2

(3) 3

(4) 4

gy 2021 H GR1fUd g fad H 30l =1 & el HH (3dRg] HH) $1 UgdH HIfo |

A. g I 3HR@]
B. Sl

c. dH

D. HRd

i 3T 70 fqdhed! H T Ug! SR &1 98- BT -

1.C,D,AB
2.A,C,B,D
3.C,A,B,D
4. A,C,D.B

(1) 1

) 2

3) 3

(4) 4

1[Option ID=31605] Question Description : geography_geography_set-1_english_q77
2[Option ID=31606]
3[Option ID=31607]
4[Option ID=31608]

Sl. No.78
QBID:180078

Which of the following is correct descending sequence of world's largest merchandise importers in 2021 as per WTO report?

A. Japan
B. Germany
C. China
D. USA

Choose the correct answer from the options given below :

1. C.&.B:D
2.D,C,A,B
3.C,D.B.A
4,D,C,B, A
(1) 1
) 2
(3) 3

(4) 4
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Sa, 21 3. DI RUIE & YR a4 2021 T 3% & YU 98 G0y (3129 MATddh! &b FHafeiad § 9 o1 91 gl
SARIBIHHT 2

A. ST

B. S

c.dH

D. Y] I 3HRST

+d fau e fasmed! § 9 Ul 3wk &1 99+ Difom :

1.C.A B, D
2.D.C.AB
3.C.D.B.A
4.D.C.B. A

1) 1

) 2

3) 3

(4) 4

1[Option ID=31609] Question Description : geography_geography_set-1_english_q78
2[Option ID=31610]
3[Option ID=31611]
4[Option ID=31612]

Sl. No.79
QBID:180079

Arrange the following languages (in descending order) in the world according to the percent of people speaking them.

A. Sino-Tibetan
B. Afro-Asiatic
C. Indo-European
D. Dravidian

E. Japanese

Choose the correct answer from the options given below :

I1.A.C,D.B,E
2. 0.8 DLEBE
3.AC B D E
4. C,A,B, D, E

1) 1

2) 2

3) 3

(4) 4

gy &1 FRfRIT HT3H &l S dicH dred Tl & UidRId & IR HalRUd (RIS B H) DI |

A, diH1-fdsadl

B. 3BIP] - URMARS
C. HRAH - R4
D. glds

E. SO

i fau e fassedl § 9 Ul 3wk &1 99+ Diforu ;

LA C DB E
2.CADBE
3.3A,C.B,D,E
4. C,A.B.D.E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=31613] Question Description : geography_geography_set-1_english_q79
2[Option ID=31614]
3[Option ID=31615]
4[Option ID=31616]
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Sl. No.80
QBID:180080

Arrange the following population health policies in India in chronological order (from old to recent).

. National Health Policy

. National Policy for Rare Diseases

. National Youth Policy

. National Policy for Persons with Disabilities
. National Mental Health Policy

[asllw e Bl ve R

Choose the correct answer from the options given below :

L. DLE AR
2. ED G &R
3.D,C.E.A,B
4.E,D. A CB

(1) 1

(2) 2

3) 3

(4) 4

YRA T S W =ifcdl &1 ST AR (U U 74149 dd) aiedd Hifo |

AT W Hifd

B. AP e I Afd

c. TP g1 A

D. 814 337 =afe i
E. P AFRYe W i

i fau U fasmeul ¥ 9 Hel 3k &1 99+ Diforu :

1[Option ID=31617] Question Description : geography_geography_set-1_english_q80
2[Option ID=31618]
3[Option ID=31619]
4[Option ID=31620]

prepp

Your Personal Exams Guide

Sl. No.81
QBID:180081

Arrange the following concepts of Political Geography in chronology from oldest to latest.

A. Functional Approaches in Political Geography by Hartshorne.
B. Rimland Theory by Spykman.

C. Frontier and Boundary concept by Moodies.

D. Heartland Thesis by Mackinder

Choose the correct answer from the options given below :



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in rrepp

Your Personal Exams Guide

RIS T Bl FEfaRad siayrusl / hed-rail ol QRIad Y Ad-ad & biashd H aiid i |

A. BT BT IS Yiied | HrieTd YN
B. WISHHA & R¥cs &1 Gl

C. STol &1 TIAid &3 3R G a1 B b el
D. AR B gageyd &1 ifHurRon

A feu U fasmed! ¥ 9§ Uel 3wk &1 99+ Difor

1[Option ID=31621] Question Description : geography_geography_set-1_english_q81
2[Option ID=31622]
3[Option ID=31623]
4[Option ID=31624]

Sl. No.82
QBID:180082

Arrange the following approaches in chronological order.

A. Feminism

B. Quantitative Revolution
C. Behaviouralism

D. Determinism

Choose the correct answer from the options given below :

1.A,C,B,D
2.B,C,A,D
3.D,B,C,A
4.C,AD,B
(1) 1
(2) 2
(3) 3
4) 4

FAfIRId SUNTH &1 HITHHTIR 39 |

A ARG

B. GETdE hifd
C. dgRdlg
D. FeTare

=1 feu U faded! | T el IR b1 98- Hiforu :

R H D
B,C,A,D
D,B,C,A
C.A.D,B

oW

(1) 1

2) 2

3) 3

4) 4

1[Option ID=31625] Question Description : geography_geography_set-1_english_q82
2[Option ID=31626]

3[Option ID=31627]
4[Option ID=31628]

Sl. No.83
QBID:180083
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Arrange the elements of electromagnetic remote sensing of earth resources in sequential order.

A. Propagation of energy through the atmosphere

B. Energy Source

C. Re-transmission of energy through the atmosphere

D. Energy interactions with earth surface features

E. Detection, recording and transmission of data to ground stations by sensors.

Choose the correct answer from the options given below :

1.A,B,C,D,E
2.BADCE
3.C.D,AB.E
4.E,D,C,B,A
1) 1
(2) 2
(3) 3
(4) 4

Tedl Gl & [9ggd 991 o Yddl 2{aydl ®i 3ddl H § Falieid dife |
A. IgHSE ¥ Bld U S Bl TR
Hid

B.
C. agH3d 9 BId §U Sl &l U: THRUI

D. Ydd AU & TIY SHell Sfhard

E. Ydah! gRI Sl s! BT R, RHTS BT AR YR S THIRT ST |

1 fau U fasmed! § 9 Uel 3wk &1 99+ Difofu :

I.ARCDE
2.B.ADCE
3.C,D,A,B.E
4. E.D.C,B. A

11

(2) 2

(3) 3

4) 4

1[Option ID=31629] Question Description : geography_geography_set-1_english_q83
2[Option ID=31630]
3[Option ID=31631]
4[Option ID=31632]

Sl. No.84
QBID:180084

Arrange the following developmental plans of India in order of their inception.

A. Desert Development Programme

B. National Capital Region

C. Damodar Valley Corporation

D. Integrated Rural Development Programme
E. Drought Prone Area Programme

Choose the correct answer from the options given below :

1.C,E,D,A,B
2.E,D,C.B. A
3.0,A B, C.FE
4: C,;D;AE.B

[OR!

() 2

(3) 3

(4) 4



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in Prepp

Your Personal Exams Guide

HRA &1 FAfIRId [aB ™ a3l & 379d URH & H H Adid Hifolu |

A. 7R [dh1g HriDH

B. AP IS &

C. GMHIGR doil HIARIH

D. GHfdd UrHI f[ah T HRIGH
E. 916 UHITdd &3 BrisH

A 16U U fddedl H U gl 3R &1 I99 BHIfoT -

1[Option ID=31633] Question Description : geography_geography_set-1_english_q84
2[Option ID=31634]

3[Option ID=31635]

4[Option ID=31636]

Sl. No.85

QBID:180085

Arrange the following states in descending order on the basis of percentage of forested area out of the total geographical
area.

A. Uttarakhand
B. West Bengal
C. Odisha
D. Kerala

Choose the correct answer from the options given below:

L d =

A,
D,
(,
D,

U:IUUJU

C; B,
AL,
A, B,
C, A,

+

1) 1
) 2
3) 3
(4) 4

FafRad gl &1 Hd Yies &3 o 94 & & U= YR & S1UR 3faRig] Bl Hard B |

A. STIRES
B. UfgH &d
c. 3fifsam

D. &Xd

i fau T [qdedl H U Ig! IR &l 9g- BHifod:

1.A,C,B,D
2.D,A,C.B
3.C,A,B,D
4.D,C,A B
11
) 2
(3) 3
(4) 4

1[Option ID=31637] Question Description : geography_geography_set-1_english_q85
2[Option ID=31638]
3[Option ID=31639]
4[Option ID=31640]
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Sl. No.86
QBID:180086

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Increasing complexity and diversity of economic activity encourages unevenness of population distribution.
Reason B : Increasing government control over economic activity emerged as a significant factor affecting population
patterns.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A is correct but R is not correct.
4. A is not correct but R is correct.
1) 1
(2) 2
3) 3
(4) 4

e €1 By fGU U 8: Uh MUBYU (Assertion A) & U H {eIfdd g Tl GO 3D HRUI (Reason R) & =T F,
SHUHYA A - 3 Mt BT dgdl Sicadr 3R [Gfdudr SHUeT [dar0 &1 SHE 6l Yidligd Bl ¢ |
PRUIB : A1 A TR IRBR BT gl FEA U HEdqUl SH PR ¢ STl ST UidHH DI GHId BT 8

|
SWRIdd B & Hdid 4, i U U [ddhedi § U 994 Iugdd IR I 999 DIl -

AR RGH UEI § 3R R, A DI UgI ARAT
AR R G TEl §, AP R, A BT UG AR T1 B
. AYgl g dfed R Gl 8T B

. A gl g1 ¢ dfhT R HEI B

@ 2

3) 3

(4) 4

O R

1[Option ID=31641] Question Description : geography_geography_set-1_english_q86
2[Option ID=31642]
3[Option ID=31643]
4[Option ID=31644]

Sl. No.87
QBID:180087

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : The dark shadows of trees on pavement may be misclassified as water in the process of automated image
classification.

Reason B : In visible-wavelength imagery, objects inside shadows will tend to appear darker and bluer than if they were
fully illuminated.

In the light of the above statements, choose the most appropriate answer from the options given below :

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A

. A is true but R is false

. A is false but R is true

(1) 1

(2) 2

(3) 3

(4) 4

Id S Y fGU T §: U SHHBYT (Assertion A) P FU H [IRGd § 1 GURT IYP HRUI (Reason R) b U H,
&rf\ua?%:m; Hegry UR g8 o TgRl URaTed! Bl Wdiicrd fdd aiifexur Uichdn ¥ S & U § Tad aiffhd fdbar i
Haodlg |

DRUIR : T 5] 49 0 Srarefl & sfex fAfgd awqd quic: ueied fRyfd &1 ga-n o sifeie drell 3R il féwars St |

JURIdd HY & el H, A [GU TN fadedl H U 981 3R &1 994 iU

CAIRRTAIIE IR R, A I UG ARSI

A SRR GHI U g, AR, A S U AR gl ¢
AYA g, dfFIR AT G

A3 g, dlbd R TA

B O R

[ S R S B
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(1) 1

2) 2

(3) 3

4) 4

1[Option ID=31645] Question Description : geography_geography_set-1_english_q87
2[Option ID=31646]

3[Option ID=31647]
4[Option ID=31648]

Sl. No.88
QBID:180088

Given below are two statements :

Statement [ : Sugarcane cultivation in deccan plateau region is more remunerative than northern regions of India.
Statement II : There are a few number of sugar mills located in sugarcane cultivating northern regions of India.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
(1) 1

(2) 2

(3) 3

(4) 4

A &l By U U §:

HYA 1 : Gab USRI U= I T 1 Wl YR b IRl UGRN BI S{Uel e aHdHRi g |
HYT T : HRA & T G Fd1 Ue=ll | fRyd =i+ el &1 e oA g |

SRIK] S & 3HdiP 4, i< U U [ddheti 4 999 IugR IR 1 999 DI

L HYHFINR IGH Id g |
2. BYTIAR I GHI 3 |
3. HYT 1A G, AT DY 0 3T ¢ |
4. HUTI13I G, AP FUA N TG |
1) 1
(2) 2
(3) 3
(4) 4

R

1[Option ID=31649] Question Description : geography_geography_set-1_english_q88
2[Option ID=31650]
3[Option ID=31651]
4[Option ID=31652]

Sl. No.89
QBID:180089

Given below are two statements :

Statement I : The movement of minerals in an ecosystem is unidirectional.
Statement II : The movement of energy in an ecosystem is cvelic.
In the light of the above statements, choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.
1) 1
) 2
(3) 3
(4) 4

o
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i A pyT feu U B!

DY 1 : U UIRTY(cTeb 7 (gpIfbed) T @isll &l Yoo Uhiei giarg |
DY 11 : U UIRTRYFI o 1 Tofl b1 Yo IBI gl g |

JURIdd B & ATdld H, i [GU TN fadbedl U 9gl 3R &1 994 DIl

. Y1 AR 1 G 9a gl
2. YA 1 AR I aHl A gl
3. HYT19d g, Al Y 11 3T g
4. HUTI13TT g, AT FUA 1 T g
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31653] Question Description : geography_geography_set-1_english_q89
2[Option ID=31654]
3[Option ID=31655]
4[Option ID=31656]

Sl. No.90
QBID:180090

Given below are two statements :

Statement I : State may be defined as geographically organised area by the population and having a government in partial
control of its entire area.

Statement IT : A state is a human community that claims the monopoly of the legitimate use of physical force with a given
territory.

In the light of the above statements, choose the correct answer from the options given below :

L. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false,
4, Statement [ is false but Statement II is true.

1) 1

(2) 2

(3) 3

(4) 4

A el Hy flGu e g:

DY 1 : A DI 39 YHR UIRYIE a1 ST el ¢ - o HITITeIdh U Y S ae Haiford &3 ¢ forgd dquf & &
SR (A0 g U TRBR Il ¢ |

DY 11 : T 98 HI-d Y& g S fbdl &7 fa=m & sidrid Hifde Jel & 99 T & UHIUBR B Gdl SIS |
JUWRIG HYH & 3elid H, Hid [GU Y [ddhedl § 9 9] SR &1 994 DIfoie:

L. HYF1AR IGH 9d ¢ |
2. HUA1 3R T GHN AT |
3 FUT 19 G, AP DY 1 3T ¢ |
4. PUA1 3T, AP YT TG |
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31657] Question Description : geography_geography_set-1_english_q90
2[Option ID=31658]
3[Option ID=31659]
4[Option ID=31660]

Sl. No.91
QBID:180091
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples ete. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA, but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

AT el § SR, S, TR, el AR U 31 i frafd guifd Sae § | AGRIY ¥ W1l &2l & ferg 3R &1
gid U IATgSIe fa=ivdl udi § | s arar Sl & 9 98 YA BUd Ub- & 909 IdiG Bl
SUSHAIE | 39 ITc] &1 TR Yaefi Y] 3R fauuM / Sl dal ddb 3! e UG DI aGDdl g |
qEId: INTE 8 DY IS H TRDHR Y dgck BRI Bl U1 S | Ssiel 3R HERSI & 916 URd 19y 1 R 981 B
JAGH o 5, U3 U8 30+ Hd IdIGA & AT 0.5 YA YR BT YD Bl g STl siietel 70 Hia=rd UFT &l
TEEHIU] Hdl § 3R 2 DRUTT. 3000 HUS & Bl AR Hieordi deiie gl Sl g | 3fc: 375 Hddh! U Uidbfdd Ufaveal
ﬂaﬁlﬂaﬂaﬁrﬁﬁa{mmﬁﬁ%wﬂmsﬁﬁﬁwwé | Fafe=9 9 &I erreR, 3ie, gdra! 3R 3= ief o
SINCIRI magmmm@ﬂmwaWugdﬂwgﬁr@ﬁﬁaﬁ%aﬂﬁﬁmwéﬁaﬁﬂ@wﬁmﬁ
EESEIREIGIN

G (1992)7 11T B TP AT SRl DI Gfcd g el St H 50 UiTId 3R Hooll 1 100 YT B gfg A Bl
g4 a1 e | 29 3faTral 3 fafera gaear Rifad YiF d 2000 GISA IFTAHT SAIGH Ud UEBRU] gl &1 S0 &

BRT 25% 3fdRad Fafd B gic & T80 1 g0 S I | 39 ol Mifera feuri o Sdre 1 . 18,000 9T Uid
AR &1 Tl I SR FITHR S+l g1 T T ISR Yiord gl 2R Sl ©: fHfera uRaR 7RIl @1 ¥ «@1gl S1a |

Which one of the following statements is correct about horticultural products?

Most of the agricultural products face the problems of glut at the time of crop growing.
Most of the horticultural products face the problem of bunt at the time of sowing.
Most of the vegetable products face the problem of smut at the time of harvest.

Most of the horticultural products face the problem of glut at the time of harvest.

halla e

(1) 1
() 2
(3) 3
(4) 4

fEfaRad § ¥ SH-971 Hu= SiaH Sdel b IR H T8l g 2

1. MBI B IAE B I 9 4D IATE B GHH BT YHAI B ¢ |
2. HUBIY HY IS dH & YT HWHT (§2) DI YA B G A G |
3. DI Yool I DHels b YHY ¢ed bl YA T YT Hd ¢ |
4. DI IATEFT IAIG BHA Hels & TG HUD IA1G DI TH BT A B ¢ |
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=31661] Question Description : geography_geography_set-1_english_q91
2[Option ID=31662]
3[Option ID=31663]
4[Option ID=31664]

Sl. No.92
QBID:180092
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples ete. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA, but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

ST el # SR, 31, HeR, Pl 3R U 3 ffyep Fafd dvifad Sare € | HeRTy 9 @il 4l & fog SR &1
gid U IATgSId fa=Ivdl udi ¢ | Ui arar Sarel & 9E 98 YA BUd Ub- & 909 IdiG Bl
YDA g | 34 IcTa! b TRE0T Haelt YIeifiras! SR [quuME / S dhal ddb 34! e GUeri Bl Ha=adbdl g |
qEId: INTE 8 DY IS H TRDHR Y dgck BRI Bl U1 S | Ssiel 3R HERSI & 916 URd 19y 1 R 981 B
JAGH o 5, U3 U8 30+ Hd IdIGA & AT 0.5 YA YR BT YD Bl g STl siietel 70 Hia=rd UFT &l
TEEHI] Hdl § 3R 2 DRUTT. 3000 IS & Bl AR Hieordi deiic gl Sl g | 3fch: 375 Hddh! U Uil UfaRal
Hefird Al HEiHS! & U1 gRI 2 A ol Yebdl ¢ | =9 SfiF &I errex, 3id, gdra! 3R 3= uief o
SINCIRI madéddm‘iam?ﬂmwﬂaai Uga- do GHEd &1 Sl 8 3R YD1 0 g drel dRdl $UU & o0y Bl
EESEIREIGIN

G (1992)7 HTETE] B TP AT SRl DI Gfcd g el St H 50 UiTId 3R Hooll 100 YT B gfg D Bl
g4 A1 e | 39 3faTrr 3 fferad gaeaRr Rifad YT § 2000 AIS IFTAHT SAIGH Td UEHRU] gl &1 S0 &

BRT 25% 3fdRad Fafd B gic & T80 1 g0 S I | 39 ol Mifera feuri o Sdre 1 . 18,000 9T Uid
AR &1 Tl I SR FITHR S+l g1 T T ISR Yiord gl 2R Sl ©: fHfera uRaR 7RIl @1 ¥ «@1gl S1a |

Chitinase gene is injected into tomatoes and potatoes in order to ensure

. Freshness

. Save money on preservation
. Price Control

. Weight loss check

Dnwp

. Aand B Only
.Band C Only
. Aand D Only
.Band D Only
1) 1
(2) 2
3) 3
(4) 4

ferfe=g ofiF fhga! GAfad S & felT cHrex 3R e | 3iddfRId foar S g:

B R B

1[Option ID=31665] Question Description : geography_geography_set-1_english_q92



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in rrepp

Your Personal Exams Guide

2[Option ID=31666]
3[Option ID=31667]
4[Option ID=31668]

Sl. No.93
QBID:180093

Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges. bananas and apples ete. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA, but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2.000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

ST STGl H SR, 3, ek, el 3R U 31fg 2ffde FHaid Hifad Sare § | HeRTY 8 TS 4l & oy SR &1
7aid U SHIgSTd fa=ind Uafi g | i SREMHT Sdmel & THE 587 AR HBYd Yb- & Y Jd1G Bl
B g | 37 1G] i TRe0T Haeft Uit iR [quuME / SuHiad bal da 3! e GIern i avadbdi g |
TEI: AT §d BN ASH H IRDHR Y S5k BRI Bl SUET T | FSid R MRS & 916 URd 9% H TRR1 951 B
JAGH o 8, U3 U8 30 P 3G & TTH 0.5 UG YR BT YD Bl g Sldids sifored 70 Uid=Td YFT &l
TR DXl § AR 3 BRUT. 3000 RIS & bl AR Fliesrgi ddie gl Wil g | 3ld: 370 Dddh! U Uidhidd UidReal
Yl ARG SANRIES! & TN R1 S AT of Uhdl ¢ | Ffe¥ S &I T1eR, 31, Jam! 3R 3= el o
SISEIES doadéddqv“tam?ﬂeﬂwHTaa?ugdﬁwgﬁfﬁﬁaﬁ%ﬁwwwﬁﬁaﬁa@TWEWﬁ
EEGEIRSIGI

Hd (1992) HTETE] Bl GP T SRl &1 Yid 8 Bl Scdre- H 50 Uidrd 3R Teoil H 100 U= B g B BI
Y14 fear g | 39 3raman 3 fifemd gaeeR fifad YfH § 2000 AIST IFTEFT 3G U9 TGO dhgl &1 RO &

BRI 25% 3fdRad Fafd $1 9fs & T80 S IR ST I | 399 ot e feami ol 3ared 1 . 18,000 =0T Ul
TACTR &1 AT I R FITHR -1 g1 T ISR Yiord gl 2R St &: Thfer uRaR 7RIl a1 9 «1ex 21u |

Which of the following measures is not the necessary step required to preserve the horticultural products?

. Access to marketing zone.

. Preservation system

. Fast mode of transportation
. Big market size

(1) 1

(2) 2

3) 3

4) 4

AT o HF-91 aRTaHT Sdre! & TR0 3 3ad HeH gl 6 2

1. 99U &7 9% ugd
2. TR&0T YTt
3. URdgH &I dig Jremd
4. dINIR DT 3T AR
(1) 1
(2) 2
3) 3
(4) 4

B R R

1[Option ID=31669] Question Description : geography_geography_set-1_english_q93
2[Option ID=31670]
3[Option ID=31671]
4[Option ID=31672]

Sl. No.94
QBID:180094
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples ete. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA, but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

AT el § SR, S, TR, el AR U 31 i frafd guifd Sae § | AGRIY ¥ W1l &2l & ferg 3R &1
gid U IATgSIe fa=ivdl udi § | s arar Sl & 9 98 YA BUd Ub- & 909 IdiG Bl
YDA g | 37 TGl B TRe0T Haelt Yetfirast R [GuoME / S dhal da 34! e YIari B Ma=adbdl g |
qE]d: IRTE 8 DY IS H TRDBR G dgcak B Bl U1 S | dsiel AR HERSI & 916 YR {9y 1 R 951 B
JAGH o 5, U3 U8 30+ Hd IdIGA & AT 0.5 YA YR BT YD Bl g STl siietel 70 Hia=rd UFT &l
TEEHIU] Hdl § 3R 2 DRUTT. 3000 HUS & Bl AR Hieordi deiie gl Sl g | 3fc: 375 Hddh! U Uidbfdd Ufaveal
ﬂaﬁa&nﬂaﬁmaﬁmﬁﬁ%ﬂﬂmsﬁﬂﬁwwé | Ffe=1g ST Pl eHIeR, 311, Yellal 3R o= ureff |
SINCIRI magmm;awﬂmwaWugdﬂwgﬁr@ﬁﬁaﬁ%aﬂﬂﬁmwﬁﬁaﬁﬂ@wﬁmﬁ
EESEIREIGIN

G (1992)7 11T B TP AT SRl DI Gfcd g el St H 50 UiTId 3R Hooll 1 100 YT B gfg A Bl
g4 a1 e | 29 3faTral 3 fafera gaear Rifad YiF d 2000 GISA IFTAHT SAIGH Ud UEBRU] gl &1 S0 &

BRT 25% 3fdRed Fafd B gic & T80 1 g1 ST I | 39 ol Mifera furi &l Sdre 1 . 18,000 9T Uid
IR BT A1 G R iR g1 g1 AT 1 ISR iord gl 3R et &: Mifera gRaR 7RIl v@r 9 918 & |

India requires genetic engineering of horticultural products preservation to ensure :

Artificial resistance against fungus
. Natural defence against glut loss
Artificial defence against rust
Natural defence against fungus

N

(1) 1
) 2
3) 3
(4) 4

URA § [hTD! GRTYd 6 g IFdH 316 TREU bl RIS HfEIED! S aaahd g -

. DdD] & (935 HHAH UfaRID
STRIT & JH U & (95 UIhidd HicRen
I T D1 BT TR

. Dbl & [dog Wi idd Uien

1) 1

() 2

(3) 3

(4) 4

R

1[Option ID=31673] Question Description : geography_geography_set-1_english_q94
2[Option ID=31674]
3[Option ID=31675]
4[Option ID=31676]

Sl. No.95
QBID:180095
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Read the passage carefully and answer the questions given below :

Among horticultural products grapes, mangoes, oranges, bananas and apples ete. have great export potential. Export of
grapes from Maharashtra to the Gulf countries is an encouraging feature. Most of the horticultural products face the problem
of glut at the time of harvest. This needs the technology associated with the preservation of these products and their quick
delivery to marketing / consumer centers. In fact horticulture requires a better deal from the government in agricultural
planning. India is the third largest producer of fruits in the world after Brazil and USA. but it processes only 0.5 percent of it
as against Brazil's 70 percent and lets Rs. 3000 crores worth of fruits and vegetables to get spoilt. This can be prevented by
using genetic engineering to enhance their natural defences against fungus. Chitinase gene injected into tomatoes, potatoes,
lettuces and other plants ensures their freshness till they reach their markets, saving millions of rupees spent on fumigation.

Raghavan (1992) has suggested to raise the production of fruits by 50 percent and vegetables by 100 percent to meet the full
nutritional requirements of the population, besides achieving 25% exportable surplus, through the establishment of 2,000
model horticulture production and processing centres covering three million hectares of irrigated land, yielding an average
of Rs. 18,000 per hectare of profit for three million farmers, generating an equal number of year-round jobs and raising a
total of six million families above the poverty line.

ST el # SR, 31, HeR, Pl 3R U 3 ffyep Fafd dvifad Sare € | HeRTy 9 @il 4l & fog SR &1
gid U IATgSId fa=Ivdl udi ¢ | Ui arar Sarel & 9E 98 YA BUd Ub- & 909 IdiG Bl
YDA g | 39 TGl B TRe0T Haelt YIefiras! SR [quuM / SUHIE gl ddb 39! 29 GUarl Bl Ha=adbdl ¢ |
qE]d: IR 8 DY FIoHI H TRBR Y a5k BRI Bl U1 S | Ssiel AR HHRSI & 916 URd {9y 1 TR 951 B
JAGH o 5, U3 U8 3U- Hd IA1GA & AT 0.5 UG YR BT YIHRDHRU Bl g Sldid siiiere 70 HId=Td HFT &
TEEHI] Hdl § 3R 2 DRUTT. 3000 IS & Bl AR Hieordi deiic gl Sl g | 3fch: 375 Hddh! U Uil UfaRal
Hefird Al HEiHS! & U1 gRI 2 A ol Yebdl ¢ | =9 SfiF &I errex, 3id, gdra! 3R 3= uief o
SINCIRI madéddm‘iam?ﬂmwﬂaai Uga- do GHEd &1 Sl 8 3R YD1 0 g drel dRdl $UU & o0y Bl
EESEIRIGIN

G (1992)7 HTETE] B TP AT SRl DI Gfcd g el St H 50 UiTId 3R Hooll 100 YT B gfg D Bl
g4 A1 e | 39 3faTrr 3 fferad gaeaRr Rifad YT § 2000 AIS IFTAHT SAIGH Td UEHRU] gl &1 S0 &

&R1 25% 3fdRad Fafd B gic & T80 1 g0 S 5 | 39 i Mifera feuri ol Sdre 1 . 18,000 9T Ui
BACTR &1 I BT SR FITHR S+l g1 T T ISR Yiord gl @R Sl &: fHfera uRaR 7RIl @1 ¥ «@1gl S{1a |

Th 50% increase in the production of fruits and 100% of vegetables will be beneficial in form :

. To meet the nutritional requirement

. To check out migration

. To increase the employment opportunities
. To bring families above the poverty line

D0

. A, CandD Only
. A, Band D Only
. B, C and D Only
. A, Band C Only
1) 1
(2) 2
3) 3
(4) 4

Bd Il H 50% B g 3R Fooil Sl H 100% i gfes fbg &0 H eHSH R gifl:

A. TSI 31aRgdhdl &1 Yfd & fu

B. Jdol TR b i & fefw

C. AR & SHTR[ H gfs B & e

D. URART & TRIel 31§ FHWR aH & oy

i feu U fasmeul 4 9 Uel faded &l g4 Pifole:

1.$Hdd A, C 3R D
2. $Hdd A, B3R D
3. %dd B, C 3R D
4. Had A, B3R C

@1

@ 2

3) 3

B R B
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(4) 4

1[Option ID=31677] Question Description : geography_geography_set-1_english_q95
2[Option ID=31678]
3[Option ID=31679]
4[Option ID=31680]

Sl. No.96
QBID:180096

Read the passage carefully and answer the questions :

Every year. unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera. Giardia and Typhoid. Even in wealthy nations. accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues. from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every vear, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.

FRfeRad i< ®1 AFYde Ue 3R g8 @16 U U Uyl & Ik dIfoU |

SRS (3Raw3) SIa Ufday T U 3R Afckrdl Bl 3701 9411 ¢ | 3R Haiied Ughe Ieil & SR @R §
¥g- & BRI UI: 8 31 dlel 9Ye TR-Hulfdd o I Sifga 4 gid § | B! 3R Uil & Uiy 9 IeHdb
SIGIU] TUT AR & U H Sid-s1i-d GUTe-g Sgitd Sid 4 $0Id1 1 U UHE HRUIG | 2Yféd od 9 e aral
ARl © g, fSfSar oiR o SR (23Whigs) Qe § | SHR o=l db H Ha-ofd e Yiaensi J gee-r a1
3{de] Y Y el drdd Tiged Sief & SHefral @dTQEHJR"M &3 ¥ 9dl- S{UATE (F-3H1P) ST H BB RS UYio-g
DIARTGH B ¢ | RS 1R H Uiday goRl i THIHER AT (Hich Slad 3R UISts dler Sy od Hidi O
sfigpfera Fifa &1 U TR =) T WROT 8138 § SR 9% A BierdIHar ¥ da #Hged & S fgw d 96d ol
TS ¢ | U o4, Oie 3R R § X8+ d1dd Tl &1 g4 -1 Sigh aiTd H deldl & SUM Ud 3fTfefs QR US o]
HFEREHT H 2R & T YDhe Bl 39 DR [6A1 g | 39 IR I [Hdid <fPurd =+ &1 H[a=adhadl aiidl ¢ Id gHIR S
o IS AR 3= SfiTe UeuD [dhd- aR-1s § | U8 Yuwl fTie TR o7l § 3R U8 22 U 3iféd YhehR!
¢ Hifdh IS UGB! Bl AIGD 3ol - AR D Sl HRT ¢Td Ud UR H dhR DISARIB] 3R A12¢c Jdidh - gaRI
ot SMgfc T TGP $RCT | 361 U IR TUgU BH TR Y Siig-[avg &HIR I T gHH-[99e S Hd W ge,
I DR ¢ 3R SUY HIETSH & SR UR fquld U Usdl ¢ | [N U 9§ 9= 3R gl Aigand siRaq # ¢ | ggl
de fob a1 W SR WR1 8 1 $.01.0. & YR Ha-Sfd YRIHId deddl Sid 9 35 ORa Uiday SHRe! &ar IR 9,
O, 4TI Yh AT 3R gUCTS ey oIl Wi Hal I 3Hiad gid g |

The lead contamination crisis in Flint was a consequence of :

. release of lead from agricultural fields

high amount of human waste

. high amount of animal waste

cost cutting measures and ageing water infrastructure

:.LhUJ[‘._)I—

1) 1
(2) 2
(3) 3
(4) 4

flreie &1 2RI 1 HguUl Yahe [T U giRuy off :

1. Gl ¥ M ard =i
2. AT U DI I AE
3. T URIE S 3= A
4. d1Td H SN & UM 3R A D QR U3 bl STel ST
1) 1
2) 2
(3) 3
(4) 4
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1[Option ID=31681] Question Description : geography_geography_set-1_english_q96
2[Option ID=31682]
3[Option ID=31683]
4[Option ID=31684]

Sl. No.97
QBID:180097

Read the passage carefully and answer the questions :

Every vyear. unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera, Giardia and Typhoid. Even in wealthy nations, accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues. from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.

fAfciRad e 31 HFyde Ug 3R 38 16 U U Uyl & IR iU |

SRIEA (3aad) Sfa Ulday e U oRd Afckrd! &l 101 9411 ¢ | SR Haiied Ughe Iel & qHioe) €= o
¥g- & BRI UI: 8 31 dTcl 9e/ TR-Hulfdd o1 J SiRgu d gid § | Tl 3R ugail & Uiy 9 e
ST 4T IRY & U H STdl-Sli-d U7l gt S U ST &1 Udh THd SRS | [ Sid J Bed aral
diariat o g, fSaniSar oIk o SR (e13Wi3s) e § | 3HR o=l db o ga-ofd 2NeH gidens § gee-r a1
349 FY Y e arel Tiged ST & SHdld] Wdl Ud TR &3 I Sel-3Uarg (3H-3410) S 4 gliHeRS Udie-
DIINGH B ¢ | SHRDT WR T Uiday geiR| Hiad TR AT (Hici lad 3R UISts arex oY Sid |idl d
Hipfard FHIfar &1 U 71HR F0) Y TR0 51 38 8§ 3R 3Yd G SichI=a1 9 dd §ge- & S g8 § 9gd ol
IS ¢ | U o, Oie 3R R § 8- d1ed Tl &1 ga -1 Sigh aiTd H el & SU Ud fTfefe R US b
AT 7 T & SN e Bl I PR [ § | 39 IR § (il coUTd H3 &1 Saeadhdl S ¢ b IR o
o IMAHAS 3R 337 S g fdhd Waid ¢ | U8 GaH] fTeid 9 W o1dl 8 3R I8 W U {fUd dhehR
© i IS UGUD| Bl AT 3ol - AR D Sl URT 41d Ud UR H AhR DIARIB] 3R A12¢ aid - gHRI
Sl 3gfcd T Uiy $RIUT | 341 Uh IR dUgUl g4 IR U Siiq-favg &HIR I A -9 Sy s Wy ge
I B ¢ 3R YUY ARRTSH & SR UR fAuld U Usdl ¢ | [y ¥ 9§ 9= 3R ddl Afgand siRaq # ¢ | ggi
dd fob a1 Y SR WR1 S 1 .01.0. & YR Hd-Sld YRIhId dedd sid 9 35 ARd Uiday SHRe! &=l IR 9,
O, S Geha] SR gUCTE (Y oIy Wi He| § Hfad gid ¢ |

Which disease is a severe form of pneumonia contracted from water sources like cooling towers and piped water?

Cholera disease
Minamata disease
Legionnaires disease
Giardia

il e

1)1
(2) 2
(3) 3
4) 4

I <Tay SR UISTS d1ex S Siel Hidl § b fd (hl<dds) Mulf- &1 Uh 1R U -9 07 8 2

1. gol I
2, HHTHTAT I
3. SR AT
4, Franf&Sar

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31685] Question Description : geography_geography_set-1_english_q97
2[Option ID=31686]
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3[Option ID=31687]

4[Option ID=31688]

Sl. No.98

QBID:180098 .
Read the passage carefully and answer the questions :

Every year, unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera. Giardia and Typhoid. Even in wealthy nations. accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues, from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.

ATCIRIT T DI AFYdD Ue 3R THD 16 16U 7T UHl & IR GIfolU |

SRRIEA (3Raw) oId Ufday T U 3Rd Afaqd! &l ¥ §-1d1 ¢ | 3R Taiid Ughe Il & o) €= d
T8 & DRUTYURE: [FH 31 dTcd GYa TR-3uifdd ¢ U SIRgH | gld ¢ | 79l 3R gyl & iRy 9 Aveiidh
ST 4T IRRY & U H STd-Sli-d Gl UG/t o Y ST &1 U UHE BRI G | S/ ofd o e aral
STaTRa! § g, TS an 3R i SR (S5 higs) HiHied § | 3R ¢f b o Hd-STd Y= st § gee-r a1
3 ¥ Y (el drel Tige! Sid & SHelld] @aﬂ@d‘lﬂq &1 ¥ el SIS (-3H1P) ST H giFeRS Udie-g
DIAREH B ¢ | HERDT 1R H Uiday SRl Sfdd TR AT (Hich ey 3R UEs dler oY ofd |idl O
SfigpTad FHIaT &1 U 1R ) ¥ UGG & SR 39D A B ¥ TdHs fHee & S0 o | 9gd off
I8 ¢ | Y o4, Okie 3R R § X8+ d1ed il &1 G411 Sigh diTd H deldl & JU Ud 3f1fefd R US bl
TR A X & U0 Gebe Bl I DR (A1 T | 39 IR H (Adid <¥UId B D1 fazgdhdl a2id ¢ fob gAR oid
T IEfE 3R 33 SEfils UeuD fdhd-d WaRd § | U8 YU fTkic TR STl § 3R U8 2 U 3ifed YhedhRl
¢ i IS UGHD! Bl ATD 3ol - AR D Sl YRT ¢Td Ud IR H dhR DISARIG] 3R A12¢ Jdidh - gaRI
S 3MYfd O UidP R UG | 37D U aR SAqUgUl g IR 3 Sila-[a99 HIR I dd giiH-fdged Sid - @y 4s,
I B & AR SYY AR & BRI UR [GURId UHTE USdl & | {929 =9 9§ dod 3R THad gl Siga 3 ¢ | ggi
d b a1 i S WR1 8 1 2,01 T & YR Hdl-Sld YRThId deddi ofd U 35 Ra Ulday SHRe! &dr IR 9,
b, 4910 h AT SR gUCISY oIl W 4g 9 3di=d gid § |

Why low-income communities are at high risk from water pollution?

Because their immunity levels are low.

Because their homes are often closest to the most polluting industries.
Because they do not have access to medical facilities.

Because their homes are farthest from city center.

A Gl i

11
(2) 2
(3) 3
4) 4

9 311 aTe Y Sid UgHUl 4 3o Siiiad H &l ¢ 2

1. T FHT TRRET 6 &R AH T ¢ |
2. A I TR UIE: Gaitid YgHd il & GHTR B ¢ |
3. Hifd 3d! b gfauredl o ugd gl gid! |
4. I I7h TR AN P A RAAEA © |
1) 1
2) 2
(3) 3
4) 4

1[Option ID=31689] Question Description : geography_geography_set-1_english_q98
2[Option ID=31690]
3[Option ID=31691]
4[Option ID=31692]
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Sl. No.99
QBID:180099

Read the passage carefully and answer the questions :

Every year. unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera. Giardia and Typhoid. Even in wealthy nations. accidental or illegal release from sewage
treatment facilities, as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile, the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead, as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues, from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.

FAAfSRad e 31 HFYdd Ue 3R g8 16 U U Uyl & Ik iU |

SRRIET (3Raw3) SIa Ufday T U 3R AfckTd! B 3101 9411 ¢ | 3R Taiied Ughe Iel & SR @R H
¥g- & BRI UI: (8 1 dTel 9ge TR-Hufdd ¢ Y SiRga 4 gid § | 591 3R Uil & Uiy 9 IeHdb
SIGT0] TUT aRRY & =0 H Sidl-sii-d GUTe-g Ygitd S 9 SI0Id1 &1 U U0 HRUIE | SYféfd ofd 9 b aral
STaTiRa! o g, fSafaan 3R o SR (Cehiss) UiHfed § | 3R ¢f dd o Ha-STd e st § gee-r a1
3{de] Y Y el drdd Tige Sidd & S{efdl Wl Ud R &1 ¥ Scl-3Ydig (3-311h) SIar § giFeRS G-
DIARGH B ¢ | ERDT 1R H Uiday SRl i oFIHER A7 (Hich Slad 3R UISts dler Sy &d Hidl °
Sficpfd FHITET &1 U 71HR ) ¥ WU BIE & R 39D HH B ¥ ddb fHge & SR gy H 9gd off
TS © | U o4, Oie 3R R § X8+ didd il &1 g4 Sigh drTd H deldl & JUM Ud 3f1feid QR US Il
IR A X & YUl Yobe Bl I DR (A1 S | 39 IR H (Adid <f¥UId o o1 fazgdhdl a2idl ¢ fb gAR oid
T IS SR 3= SIS UeuD dhd- GaR-1s § | U8 YU {Tie TR STl § 3R U8 2 U 3ifeid YhehR
¢ i IS UGB! Bl AGd 3ol - AR D Sl URT ¢Td Ud IR H AR DICARIB! 3R A12¢c Jdidh - gaRI
o 2gfd H HiaP HR T | 31 U aR AdUsU gH TR Y Siig-[avg dHIR I ddx gHH-[d9e Sy - Weg ge,
I B ¢ SR YUY AIRRTSH & SR IR fquld U4 Usdl ¢ | fd2N U ¥ 9= 3R gl Aigard siRaq # ¢ | ggl
d fob a1 M S WR1 8 1 S.01 0. & YR Hel-Sfd YRIhId deddi ofd U 35 Ra Ulday SHRe! &dr IR 9,
O, 4TI Yh A 3R gUeTS ey oIl Wi Hal 4 3Hpiad gid ¢ |

Which of the following message is given through the passage?

. Water pollution is an issue only in under-developed nations.

. Water pollution occurs only in few countries.

. In developed countries water pollution is not caused by harmful pathogens.
Water pollution is a problem even in the high income countries.

Pl o I

1) 1
(2) 2
(3) 3
(4) 4

Y ITEIRI o HIEH Y 1 YoRl [Gar g 2

1. S WUl had 3fed-fahiRid <2l &1 T el g
2. STl UG WUl hadl & ST H BT g |
3. T id &= § giHeR® TS ¥ Sd Yyl 34 ol gldl © |
4. 3= 3T 91d <= H off STl UGl U 9§ |
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=31693] Question Description : geography_geography_set-1_english_q99
2[Option ID=31694]
3[Option ID=31695]
4[Option ID=31696]

Sl. No.100
QBID:180100
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Read the passage carefully and answer the questions :

Every year, unsafe water sickens about 1 billion people. And low-income communities are disproportionately at risk because
their homes are often closest to the most polluting industries. Waterborne pathogens, in the form of disease-causing bacteria
and viruses from human and animal waste, are a major cause of illness from contaminated drinking water. Diseases spread
by unsafe water include Cholera, Giardia and Typhoid. Even in wealthy nations, accidental or illegal release from sewage
treatment facilities. as well as runoff from farms and urban areas, contribute harmful pathogens to waterways. Thousands of
people across the United States are sickened every year by Legionnaires' disease (a severe form of pneumonia contracted
from water sources like cooling towers and piped water), with cases cropping up from California's Disnevland to
Manbhattan's Upper East Side. Meanwhile. the plight of residents in Flint, Michigan — where cost-cutting measures and
ageing water infrastructure created a lead contamination crisis—offers a stark look at how dangerous chemical and other
industrial pollutants in our water can be. The problem goes far beyond Flint and involves much more than lead. as a wide
range of chemical pollutants—from heavy metals such as arsenic and mercury to pesticides and nitrate fertilizers—are
getting into our water supplies. Once they are ingested, these toxins can cause a host of health issues, from cancer to
hormone disruption to altered brain function. Children and pregnant women are particularly at risk. Even swimming can
pose a risk. Every year, 3.5 million Americans contract health issues such as skin rashes, pinkeve, respiratory infections, and
hepatitis from sewage-laden coastal waters, according to EPA estimates.

FRICRIT T D1 HFYdD Ue 3R 28 916 16U 7T Uyl & IR SIieU |

SRRIET (3RTwS) STc UIAqy THTHT U 3R ATl &I 10 G411 § | 3R Halid Ugud Sail & SR Wi
T8 & DRUIURE: 9 1Y a7 §Yar TR-3uifdd ¢ Y Siigq 1 gid € | T 3R Uil & iRy § Aveidh
ST 4T IR & U H STd-sli-d G4l UG8 ofd Y ST &1 Udh UHE BRI g | G/ ofd o e aral
At # g9, S ar oI oA SR (e3Whizs) AHed g | 3R ol dd | Jd-ofd [N faemsi J geer a1
3T ¥ Y (e drel Tigel Sid & Sfeld] @Iﬂ@"ﬂ*lﬂq &1 ¥ Sidl- SIS (F-3H1P) ST H gFeRS Uio-4g
DI ARG B ¢ | AERDT 1R H Uiy SRl fdd IR AT (Hich elad 3R U2t dler Sy oid Hidl O
3figpTerd FEf &1 U 1R &)  IROTEI IR § 3R 3T A1 Biam a1 T dd FHge & SR g & dgd o
I8 ¢ | 3 o4, Oie 3R R § Y8 d1dd @il &1 gan Sigh arTd # il & JUR Ud [T d QR US
SEEREAT A W & UGV e Bl I B 31 § | 39 IR A FIdid <fPuId &3 &1 Sazaebdl Sdl 8 fib gHR Sfel
T IS 3R 337 S TeuD (dha- TaRs § | I8 A {Tkic I TR W7l § 3R U8 2R U 3{eH YhedRT
¢ Hifh IS UGB! Bl ATD 36 - SRS Sl YRT ¢Td Ud IR H AhR DISARIB! 3R A12¢e Jdidh - gHRI
S Y ¥ UfaP &R U S | 3D U IR AqUgUl g4 IR 3 Sild-[d9 IR I dd giiH-faged Sy 3 @y ge
3 B ¢ IR ST AfGTS & H1 W [T THEa usd & | f929 =0 9 9= iR madt Aafgaid Sikga ¥ € | gei
b b a1 Ui S YR8 1 2.01.U. & YR Hal-old YRThId deddi ofd U 35 TR Ulday SERe! &dr IR 9,
g, 4910 ThHUT 3R gUCISY oIl W GEf 9 3 iad §id § |

Every year how many Americans contract health issues such as skin rashes, pinkeye, respiratory infection and hepatitis from
sewage-laden coastal waters.

.25 lakh
.35 lakh
.45 lakh
. 50 lakh
(1) 1
(2) 2
(3) 3
(4) 4

yfday fdod- MRS AN Hdl-Sid YRIGId dedd] od U o9l WR ddhd, [U-hd, 919 GHHUN 3R gUesicy oY
WA TR Y SPHAad g g :

.25 kg

35dig

45 g

50 dR9

B R B
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(1) 1

(2) 2

3) 3

4) 4

1[Option ID=31697] Question Description : geography_geography_set-1_english_q100
2[Option ID=31698]

3[Option ID=31699]
4[Option ID=31700]
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